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THE STRAIGHT LINES

1. Show that the straight lines given by (2 + k)x + (1 + k)y =5+ Tk

for different values of k pass through a fixed point. Also, find that point.

° Watch Video Solution

2. Find the equation of the internal bisector of ZBAC of the A ABC

whose vertices A, B, C are(5,2), (2, 3) and (6, 5) respectively.

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_zhA80QQ2oYJJ
https://dl.doubtnut.com/l/_pQf5zcglJKXH

3. The ratio in which the line segment joining (-1,1) and (5,7) is divided by

thelinex +y =4is

° Watch Video Solution

4. The mid points of the sides of a triangle are (2,1), (-5,7) and (-5,-5).The
equation of sides are : (A) x-2=0 (B) 6x+7y+65=0 (C) 6x-7y+79=0 (D) All of

these

° Watch Video Solution

5. Find the equation of the altitudes of the triangle whose vertices are

A(7, — 1), B( — 2,8)andC(1, 2).

° Watch Video Solution



https://dl.doubtnut.com/l/_pQf5zcglJKXH
https://dl.doubtnut.com/l/_7qnzaGml56Ur
https://dl.doubtnut.com/l/_6JTOaDg5oU4G
https://dl.doubtnut.com/l/_TbtTZELXwJPx

6. One side of a square makes an angle a with x axis and one vertex of the
square is at origin. Prove that the equations of its diagonals are
z(sina + cosa) = y(cos a — sina) or
z(cosa — sina) + y(sina + cos a) = a, where a is the length of the

side of the square.

° Watch Video Solution

7. Show that the perpendicular drawn from the point (4, 1) on the line

segment joining (6, 5)and(2, — 1) divides it internally in the ratio 8: 5.

° Watch Video Solution

8. Prove that the perpendicular drawn from the point (4, 1) on the join of

(2, — 1)and(6, 5) divides it in the ratio 5: 8.

° Watch Video Solution



https://dl.doubtnut.com/l/_ydVF8pYZiRQw
https://dl.doubtnut.com/l/_9Clc2yIDIKCt
https://dl.doubtnut.com/l/_x8gF5nefwGpU
https://dl.doubtnut.com/l/_SLa5vv2gR1tp

9. A line passing through the point A(3,0) makes 30° angle with the
positive direction of x- axis . If this line is rotated through an angle of 15°

in clockwise direction, find its equation in new position.

° Watch Video Solution

10. In what ratio is the line joining the points (2, 3)and(4, 1) divides the

segment joining the points(1, 2)and(4, 3) 7

° Watch Video Solution

1. Find the equations to the altitudes of the triangle whose angular

points are A(2, — 2), B(1, 1)andC( — 1, 0).

° Watch Video Solution

12. Find the equations of the diagonals of the square formed by the lines

x=o0,y=0,r = landy = 1.


https://dl.doubtnut.com/l/_SLa5vv2gR1tp
https://dl.doubtnut.com/l/_tbrUETzTa59s
https://dl.doubtnut.com/l/_XnCVnbgfiJEd
https://dl.doubtnut.com/l/_61BhDJ4RUnG2

° Watch Video Solution

13. Find the equation of a line which cuts off intercepts a and b

respectively from the z and y — axes.

° Watch Video Solution

14. Find the equation of the bisector of angle A ofthe triangle whoe

vertices are A(4, 3), B(0, 0)andC(2, 3).

° Watch Video Solution

15. Find the equations of the straight lines which go through the origin
and trisect the portion of the straight line 3z + y = 12 which is

intercepted between the axes of coordinates.

° Watch Video Solution



https://dl.doubtnut.com/l/_61BhDJ4RUnG2
https://dl.doubtnut.com/l/_WiglLBfcLVti
https://dl.doubtnut.com/l/_P9ApxCjxZ6FI
https://dl.doubtnut.com/l/_etBQv0B3E18X
https://dl.doubtnut.com/l/_4fOZUSmqd9RY

16. A line L is such that its segment between the straight lines 5x -y -4 =0

and 3 x +4y-4=0is bisected at the point (1,5) . Obtain the equation.

o Watch Video Solution

17.Find the equations to the diagonals of the rectangle the equations of

whose sidesarez = a,z = a’',y = bandy = b’

o Watch Video Solution

18. A rectangle has two opposite vertices at the points (1, 2) and (5, 5). If
the other vertices lie on the line x = 3, find the equations of the sides of

the rectangle.

o Watch Video Solution

19. Find the coordinates of the vertices of a square inscribed in the

triangle with vertices A(0, 0), B(3, 0)andC(2, 1); given that two of its


https://dl.doubtnut.com/l/_4fOZUSmqd9RY
https://dl.doubtnut.com/l/_bjS7kyemLcqJ
https://dl.doubtnut.com/l/_Q3jHparyyfco
https://dl.doubtnut.com/l/_g7ig51Fv15VC

vertices are on the side AB.

° Watch Video Solution

20. If the intercept of a line between the coordinate axes is divided by the

point ( — 5, 4) in the ratio 1: 2, then find the equation of the line.

° Watch Video Solution

21. A straight line moves so that the sum of the reciprocals of its
intercepts made on axes is constant. Show that the line passes through a

fixed point.

° Watch Video Solution

22. Find the equations of lines parallel to 3z — 4y — 5 =0 at a unit

distance from it.

° Watch Video Solution



https://dl.doubtnut.com/l/_g7ig51Fv15VC
https://dl.doubtnut.com/l/_LVZEKDanWBjV
https://dl.doubtnut.com/l/_dkkLi3NiqjYp
https://dl.doubtnut.com/l/_Onuh1RKQm03Q

23. If the length of the perpendicular from the point (1, 1) to the line

by + ¢ — 0 be unity, show that & 4+ ~ — £ — _©
— = 0 be unity,showthat — + — — — = —
ax yTe Y c a b 2ab

° Watch Video Solution

24. If tyandt,y are roots of eth equation t2 4+ X +1=0, where X is an
arbitrary constant. Then prove that the line joining the points
(atl, 22at;)adn(at2, 22at,) always passes through a fixed point. Also,

find the point.

° Watch Video Solution

25. Show that the locus of the mid-point of the segment intercepted

between the axes of the variable line zcosa + ysina = p then

1 1

4 ,
— + — = —;» where pis a constant.
z Yy p

° Watch Video Solution



https://dl.doubtnut.com/l/_Onuh1RKQm03Q
https://dl.doubtnut.com/l/_9TbZdfBpeva4
https://dl.doubtnut.com/l/_b57eHBAQfGjp
https://dl.doubtnut.com/l/_VTodk98uBeVD

26. Find the equation of the line which passes through P(1, — 7) and

meets the axes at A and B respectively so that 4AP — 3BP = 0.

° Watch Video Solution

27.The area of the triangle formed by the coordinates axes and a line is 6
square unit length of d a line is 6 square units a tie'hypotenuse is 5 units.

Find the equation of the line.

° Watch Video Solution

28. Find the equations of the line which passes through the point (3, 4)

and the sum of its intercepts on the axes is 14 .

° Watch Video Solution



https://dl.doubtnut.com/l/_eTXr0gbkNI6o
https://dl.doubtnut.com/l/_BpTEqY2tzbFL
https://dl.doubtnut.com/l/_8IBgXVS5aN0Q

29. For what values of aandb the intercepts cut off n the coordinate axes
by the line ax + by + 8 = 0 are equal in length but opposite in signs to

those cut off by the line 2z — 3y + 6 = 0 on the axes.

° Watch Video Solution

30. Find the equation of the straight line which passes though

(1, — 2)and cuts off equal intercepts on the axes.

° Watch Video Solution

31. If the line (%)—i—(g):l moves in such a way that

b

1 1 1
<—) + (—) = (—) , Where c is a constant, prove that the foot of
a? b2 c2

the perpendicular from the origin on the straight line describes the circle

22 4y =

o Watch Video Solution



https://dl.doubtnut.com/l/_EDAVQngAY7ic
https://dl.doubtnut.com/l/_fl1yrlivjbDa
https://dl.doubtnut.com/l/_jwjV4aukkLPh
https://dl.doubtnut.com/l/_W6oFv9AktnWo

32. If the sum of the distances of a moving point in a plane from the axes

is 1, then find the locus of the point.

o Watch Video Solution

33. Find the equation of the straight lines each of which passes through
the point (3, 2) and cuts off intercepts a and b respectively on x and y -

axes such thata — b = 2.

o Watch Video Solution

34. The equation of straight line which passes through the point (-4,3)
such that the portion of the line between the axes is divided by the point

in ratio 5:3 is -

o Watch Video Solution



https://dl.doubtnut.com/l/_W6oFv9AktnWo
https://dl.doubtnut.com/l/_1Ou704ym89pu
https://dl.doubtnut.com/l/_cSOlw384v5xS

35. Prove that the length of perpendiculars from points 'P(m”2,2m) Q (mn
,m+n) and R(n"2,2n)' to the line z cos® # + ysin@ cos 0 + sin?@ = O are in

G.P.

° Watch Video Solution

36. The equation of the base of an equilateral triangleis x +y —2 =0
and the opposite vertex has coordinates (2, -1). Find the area of the

triangle.

° Watch Video Solution

37. Find the equations of lines passing through the point (1,0) and a

3
distance 5 from the origin.

o Watch Video Solution



https://dl.doubtnut.com/l/_hybReEPju0Qs
https://dl.doubtnut.com/l/_qL5RZ2Wl0vEJ
https://dl.doubtnut.com/l/_dSj4XF2mlyc9

38. Find the coordinates of a point on = + y + 3 = 0, whose distance

fromz + 2y + 2 = 0is /5.

o Watch Video Solution

39. A point moves such teat its distance from the point (4, 0) is half that

of its distance from the line x = 16, find its locus.

o Watch Video Solution

40. Find the locus of a point which moves in such away that the square of
its distance from the point (3, — 4) is numerically equal to its distance
from the line b — 12y = 13.

A 1322 4 13y*- 83z + 64y + 182 =0

B.z? + 3?11z + 16y + 26 = 0

C.z’> 4+ y’~1lz + 16y = 0


https://dl.doubtnut.com/l/_C5AI55NGd4Hr
https://dl.doubtnut.com/l/_RsTMqZ4Pc6ru
https://dl.doubtnut.com/l/_27fEeDY3K1kX

D. None of these

Answer: null

° Watch Video Solution

41. Find the equation of the straight line on which the length of the
perpendicular from the origin is 4 units and the line makes an angle of

120° with positive direction of x-axis

° Watch Video Solution

42. Find the equation of the straight line upon which the length of the

perpendicular from the origin is band the slope of this perpendicular is
3

4

° Watch Video Solution



https://dl.doubtnut.com/l/_27fEeDY3K1kX
https://dl.doubtnut.com/l/_J1Jg3NfvbVz9
https://dl.doubtnut.com/l/_orB5YE5m56nk

43. A line forms a triangle of area 54,/3square units with the coordinate
axes. Find the equation of the line if the perpendicular drawn from the

origin to the line makes an angle of 60° with the X-axis.

o Watch Video Solution

1
44. A straight canal is 45miles from a place and the shortest route from
this place to the canal is exactly north-east. A village is 3miles north and

four miles east from the place. Does it lie by the nearest edge of the

canal?

o Watch Video Solution

45. Find the equation of the line on which the length of the perpendicular
segment from the origin to the line is 4 and the inclination of the

perpendicular segment with the positive direction of x axis is30°.

o Watch Video Solution



https://dl.doubtnut.com/l/_U6QxyEwcU2EB
https://dl.doubtnut.com/l/_4MbNF2XqSfXD
https://dl.doubtnut.com/l/_YGUulFWS5iyx

46. Find the equation of the straight line on which the length of the

perpendicular from the origin is 2 and the perpendicular makes an angle

1
a with x-axis such that sina = g

° Watch Video Solution

47. Find the equation of a straight line on which the perpendicular from
the origin makes an angle of 30° with x-axis and which forms a triangle of

area 50,/3 with the axes.

° Watch Video Solution

48. The slope of a straight line through A(3,2)is3/4 Find the

coordinates of the points on the line that are 5units away fromA.

° Watch Video Solution



https://dl.doubtnut.com/l/_21iZZLefFCWy
https://dl.doubtnut.com/l/_eAn4rlunT3U6
https://dl.doubtnut.com/l/_xQ6TeyZi1FSk

49. Find the equation of the line through the point A(2, 3) and making
an angle an angle of 45° with the x-a xi s . Also, determine the length of

intercept on it between Aand thelinex +y+ 1 = 0.

° Watch Video Solution

50. If the straight line through the point (3,4) makes an angle % with x-

axis and meets the line 12 x + 5y + 10 = 0 at Q, Then the length of PQ is :

° Watch Video Solution

51. The angle between the diagonals of a quadrilateral formed by the

. T Y x
lines — + = =1, — +
a b b

y
a

— 1,24 _oama 24 Y 9
a b b a

° Watch Video Solution



https://dl.doubtnut.com/l/_gqh2KcgywGjz
https://dl.doubtnut.com/l/_d4vEY5pjADia
https://dl.doubtnut.com/l/_kdWrRDRu3t0c

52. Find the equation of two straight lines which are parallel to

z + Ty + 2 = 0 and at unit distance from the point (1, — 1).

° Watch Video Solution

53. Show that the lines
dr+y—9=0,z —2y+ 3 = 0,5 — y — 6 = 0 make equal intercepts

on any line of slope 2.

° Watch Video Solution

54, Find the value of m for which the lines
mz 4+ (2m 4+ 3)y + m + 6 = Oandmz + (2m + 1)z + (m —6)y+9 =10

intersect at a; point on y — a&s-

° Watch Video Solution



https://dl.doubtnut.com/l/_0ED7GsMyIdGG
https://dl.doubtnut.com/l/_QW9oGFHiXhpH
https://dl.doubtnut.com/l/_Xzqe2SFg7rP5

55. The sides ABandAC of a triangle ABC are respectively
2 + 3y = 29andz + 2y = 16 respectively. If the mid-point of

BC('is(5, 6) then find the equation of BC.

° Watch Video Solution

56. A line through A(—5, —4) meets the lines

xr+3y+2=02xr+y+4=0and x—y—5=0 at the points

2 2 2
B, CandD rspectively, if (%) + (,i_(é’) = (%) find the

equation of the line.

° Watch Video Solution

57. Explain BPT Theorem

° Watch Video Solution



https://dl.doubtnut.com/l/_AzaUqPGDXUru
https://dl.doubtnut.com/l/_sFaHyAZVtsTn
https://dl.doubtnut.com/l/_a7V6SysnH8KX

58. Transform the equation of the line /3z +y — 8 = 0 to (i) slope
intercept form and find its slope and y-intercept (ii) intercept form and
find intercepts in the coordinates axes (iii) normal form and find the
inclination of the perpendicular segment from the origin on the line with

the axis and its length.

o Watch Video Solution

59. Find the distance of the point (2, 3) from the line 2z — 3y +9 =0

measured along alinez —y+ 1= 0.

o Watch Video Solution

60. The line joining two points A(2,0) and B(3,1) is rotated about A in
anticlockwise direction through an angle of 15°. find the equation of line
in the new position. If b goes to c in the new position what will be the

coordinates of C.

| o WMl L\ dan C Al ikl n


https://dl.doubtnut.com/l/_01kYozTQ9D0M
https://dl.doubtnut.com/l/_D5sh4LXeOgrq
https://dl.doubtnut.com/l/_lc6N0uFopriv
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61. Find the direction in which a straight line must be drawn through the
point (1,2) so that its point of intersection with the line z +y = 4

may be at a distance of 3 units from this point.

° Watch Video Solution

62. Show that the equations of the straight lines passing through the
point (3, —2) and inclined at 60° to the line

3z +y = larey + 2 = Oandy — /3z + 2 + 3,/3 = 0.

° Watch Video Solution

63. A vertex of an equilateral triangle is (2, 3) and the opposite side is

x + y = 2. Find the equations of other sides.

° Watch Video Solution



https://dl.doubtnut.com/l/_lc6N0uFopriv
https://dl.doubtnut.com/l/_hLJ1q9vJywwG
https://dl.doubtnut.com/l/_OQPZUCcymiFW
https://dl.doubtnut.com/l/_H6TtPaJUvoc2
https://dl.doubtnut.com/l/_7JIhGVjYTabC

64.Find the value of A\, if theline3xz — 4y — 13 =0,8x — 11y — 33 =0

and 2z — 3y + A = 0 are concurrent.

° Watch Video Solution

65. If the lines ax +y+1=0,z+by+1=0and z +y+c=0 are

1
t 1 that =1.
concurrent (a # b # ¢ # 1) , prove tha 1—a+1—b+1—c

° Watch Video Solution

66. If the straight line %—k % = 1 passes through the line point of
intersection of the lines £ + y = 3 and 2x — 3y = 1 and is parallel to

x—y—6=0,findaandb.

° Watch Video Solution



https://dl.doubtnut.com/l/_7JIhGVjYTabC
https://dl.doubtnut.com/l/_FgfP8MVb8O3W
https://dl.doubtnut.com/l/_FRPHieJp4kJ5

67. Find the orthocentre of the triangle the equations of whose sides are

x+y=12x + 3y = 6anddx —y+ 4 = 0.

° Watch Video Solution

68. Two vertices of a triangle are (3, — 1l)and( —2,3) and its

orthocentre is at the origin,. Find the coordinates of its third vertex.

° Watch Video Solution

69. Two consecutive sides of a parallelogram are 4z + 5y = 0 and
T7x + 2y = 0. If the equation of one diagonal is 11z 4+ 7y = 9, Equation
of other diagonal : (A) 1llz +7y=0 (B) 3z —5y+5=0 (Q)

Tt +1ly=0D)xz —y=20

° Watch Video Solution



https://dl.doubtnut.com/l/_3jkapjU3W2Zn
https://dl.doubtnut.com/l/_yrtsB6gdDinE
https://dl.doubtnut.com/l/_F0R1ndYM4bZW

70. Find the equation of the straight line passing through the point of
intersection of the lines 52 — 6y —1 =0 and 3z +2y+5 =0 and

perpendicular to the line 3z — 5y + 11 = 0.

° Watch Video Solution

71. Show that the line z—-y—6=0,4c —-3y—20=0 and
6 + 5y + 8 = 0 are concurrent. Also, find their common point of

intersection.

° Watch Video Solution

72. Three sides AB, ACandCA of triangle ABC are
bx —3y+2=0,z —3y — 2= 0andxr +y — 6 =0 respectively. Find

the equation of the altitude through the vertex A.

° Watch Video Solution



https://dl.doubtnut.com/l/_6IyQ9tCi5ZrH
https://dl.doubtnut.com/l/_dICUBqtcBWTY
https://dl.doubtnut.com/l/_C4H7Oazk9uT3
https://dl.doubtnut.com/l/_JLd8RcP4oRm6

73. Find the coordinates of the incentre and centroid of the triangle
whose sides have the equations

3r —4y =0,5z + 12y = 0 and y — 15 = 0.

° Watch Video Solution

74. Show that the straight lines given by z(a + 2b) + y(a + 3b) = a for

different values of a and b pass through a fixed point.

° Watch Video Solution

75.1f a, b, c are variables such that 3a + 2b + 4c = 0, then show that the
family of lines givenby az + by + ¢ = 0 pass through a fixed point. Also,

find that point.

° Watch Video Solution



https://dl.doubtnut.com/l/_JLd8RcP4oRm6
https://dl.doubtnut.com/l/_m7cmymIctt16
https://dl.doubtnut.com/l/_SNlvFHK1v5L3

76. If the algebraic sum of the perpendiculars from the points
(2,0),(0,2),(1,1) to a variable line be zero, then prove that line passes

through a fixed-point whose coordinates are (1, 1).

° Watch Video Solution

77.Aray of light is sent along the line x — 2y — 3 = 0 upon reaching the
line 3z — 2y — 5 = 0, the ray is reflected from it. Find the equation of

the line containing the reflected ray.

° Watch Video Solution

78.lines Ly:ax + by + ¢ = 0 and Ly:lx + my + n = 0 intersect at the
point P and make a angle 8 between each other. find the equation of a
line Ldifferent from L, which passes through P and makes the same

angle 6 with L,

° Watch Video Solution



https://dl.doubtnut.com/l/_790gaKZ8fmeP
https://dl.doubtnut.com/l/_8Pmn9OugJuNc
https://dl.doubtnut.com/l/_1qsvfp81amaR

79. Find the equation of the straight line passing through the point of
intersection of 2x +3y+ 1= 0and3z —5y—5=0 and equally

inclined to the axes.

° Watch Video Solution

80. Find the equation of the straight line which cuts off intercept on X-

axis which is twice that on Y-axis and is at a unit distance from the origin.

° Watch Video Solution

81. Find the equation of the straight line passing through the point of
intersection of 2z +y — 1 = 0 and  + 3y — 2 = 0 and making with the

coordinate axes a triangle of area 3/8 sq. units.

° Watch Video Solution



https://dl.doubtnut.com/l/_ruQz0mUW7Vxv
https://dl.doubtnut.com/l/_4RNjihFdrj5A
https://dl.doubtnut.com/l/_7LBBZIqsr18m

82. Find the equations of the lines through the point of intersection of
the lines * —y+ 1 =0 and2z — 3y + 5 = Owhose distance from the

point(3, 2) is %

° Watch Video Solution

8. If the diagonals of the quadrilateral formed by lines
lhe+my+n =0, e +moy+ny =0, iz + my+n;’ =0, and
lox +moy +ny’ =0, are perpendicular,  then value of

2 2 2 2

° Watch Video Solution

84. Write the area of the figure formed by the lines a|z| + bly| + ¢ = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_GhGIoACGSApe
https://dl.doubtnut.com/l/_wQUGcwuBO8Gj
https://dl.doubtnut.com/l/_miEILZweIBui

85. If  is the acute angle between the lines with slopes m1 and m2 then

mp — My . . .
If p is the length the perpendicular from point P(x1,
1+ mima

tanf =

ax1 + by +c

y1) to the line ax+ by +c =0 then p=

° Watch Video Solution

86. A straight line L is perpendicular to the line 5z — y = 1. The area of
the triangle formed by the line L and the coordinate axes is

5" Qunits. F € dtheequationofthel € el

o Watch Video Solution

87. Find the image of the point ( — 8, 12) with respect to line mirror

Az + Ty + 13 = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_NrF3wpWRRfFW
https://dl.doubtnut.com/l/_RCXFcEXQokLX
https://dl.doubtnut.com/l/_G7d17lup9fX2

88. Show that the equation of a line passing through (a cos® 0, asin® 9)
and perpendicualar to the line

xsech + ycosecd = a’is’x cos — ysinh — a cos 20

° Watch Video Solution

89. Find the equation of a straight line parallel to 2z + 3y + 11 = 0 and

which is such that the sum of its intercepts on the axes is 15.

° Watch Video Solution

90. Find the coordinates of the foot of the perpendicular drawn from the

point (1, — 2) on theliney = 2z + 1.

° Watch Video Solution



https://dl.doubtnut.com/l/_BRrzlgxogJGE
https://dl.doubtnut.com/l/_XvoGVpFIrvXX
https://dl.doubtnut.com/l/_5M71nOES90iD

91. If the lines p1x + qy =1, ;o + @y = landpsx + sy = 1, be

concurrent, show that the point (py, q1), (p2, ¢2)and(ps, g3) are collinear.

° Watch Video Solution

92. Prove that the medians of a triangle are concurrent and find the
position vector of the point of concurrency (that is, the centroid of the

triangle)

° Watch Video Solution

93. Show that the altitudes of a triangle are concurrent

° Watch Video Solution

94. Two sides of an isosceles triangle are given by the equations

7x —y+3=0and x +y— 3 =0 and its third side passes through


https://dl.doubtnut.com/l/_CWDlPQZIX9te
https://dl.doubtnut.com/l/_Vphg2ny4ONGF
https://dl.doubtnut.com/l/_NlJhpGcSEbT2
https://dl.doubtnut.com/l/_hVgNHt8p7UhI

the point (1, — 10). Determine the equation of the third side.

° Watch Video Solution

95.

° Watch Video Solution

96. Find the equations of the sides of an isosceles right angled triangle
the equation of whose hypotenuse is 3z + 4y = 4 and the opposite

vertex is the point (2, 2).

° Watch Video Solution

97. A line 4z 4 y = 1 passes through the point A(2,7) and meets line BC

at B whose equation is 3x — 4y + 1 = 0, the equation of line AC such


https://dl.doubtnut.com/l/_hVgNHt8p7UhI
https://dl.doubtnut.com/l/_ikWjnq9lghcl
https://dl.doubtnut.com/l/_dqgiyTPgW88K
https://dl.doubtnut.com/l/_HUZjTFZxUe4h

that AB = AC is (a) 52x +89y +519=0(b) 52x +89y-519=0 c) 82x

+52y+519=0 (d) 89x +52y -519=0

° Watch Video Solution

98. One side of a rectangle lies along the line 4 + 7y + 5 = 0. Two of
its vertices are ( — 3, 1) and (1, 1). Find the equations of the other three

sides.

° Watch Video Solution

99. If two opposite vertices of square are (1,2) and (58), find the

coordinates of its other two vertices and the equations of its sides.

° Watch Video Solution

100. Find the equation of the straight line which passes through the

intersection of the lines  —y—1=0 and 2z —3y+1=0 and


https://dl.doubtnut.com/l/_HUZjTFZxUe4h
https://dl.doubtnut.com/l/_2W6lWe98emjT
https://dl.doubtnut.com/l/_0nGFANmChYNR
https://dl.doubtnut.com/l/_bg05SqmM3moz

parallel (i) z-axis (ii)y-axis (iii) 3x+4y=14.

° Watch Video Solution

101. Find the equation of the straight line which passes through the point
(2, —3) and the point intersection of  the lines

x+y+4=0and3x —y—8=0.

° Watch Video Solution

102. If A(2,0), B(0, 2)andC(0, 7) are three vertices, thaken in order, of
an isosceles trapezium ABCD in which AB| | DC. find the

coordinates of D.

° Watch Video Solution

103. Prove that the line joining the mid-points of the two sides of a

triangle is parallel to the third side.



https://dl.doubtnut.com/l/_bg05SqmM3moz
https://dl.doubtnut.com/l/_PRrWbjptH878
https://dl.doubtnut.com/l/_XhajX3lAbMMU
https://dl.doubtnut.com/l/_I0iGbvBNwdyq

| ° Watch Video Solution

104. A ray of light passing through the point (1, 2) reflects on the x-a xi s
at point A and the reflected ray passes through the point (5, 3) . Find the

co-ordinates of A.

° Watch Video Solution

105. Prove that A(4, 3), B(6,4)andC(5, 6)andD(3,5) are the angular

points of a square.

° Watch Video Solution

106. What is the value of y so that the line through (3, y)and(2,7) is

parallel to the line through ( — 1, 4)and(0, 6) ?

° Watch Video Solution



https://dl.doubtnut.com/l/_I0iGbvBNwdyq
https://dl.doubtnut.com/l/_bqiTxD50iGlR
https://dl.doubtnut.com/l/_DTW3ZMIcV6zi
https://dl.doubtnut.com/l/_w05xk4Eva82a
https://dl.doubtnut.com/l/_tvslH7ru7U1i

107. Let A(6, 4)andB(2, 12) be two given points. Find the slope of a line

perpendicular to AB.

° Watch Video Solution

108. Find the angle between the lines joining the point (0, 0), (2, 3) and

the points (2, — 2), (3, 5)-

° Watch Video Solution

109. Determine z so that the line passing through (3, 4)and(z, 5) makes

an angle of 135 angle with positive direction of x-axis

° Watch Video Solution

10. If A(—2,1),B(2,3)andC( — 2, —4) are three points, find the

angle between BAandBC.

° Watch Video Solution



https://dl.doubtnut.com/l/_tvslH7ru7U1i
https://dl.doubtnut.com/l/_JOoSIKw16lBS
https://dl.doubtnut.com/l/_TTz6K8Eajli1
https://dl.doubtnut.com/l/_TMSP0dNJMZqu

111. Find the equation of a straight line which passes through the point of
intersection of the straight linesz +y—5=0and z —y+ 3 = 0 and
perpendicular to a straight line intersecting x-axis at the point (-2,0) and

the y-axis at the point (0,-3).

° Watch Video Solution

12. Classify the following pairs of lines as coincident, parallel or
intersecting: £ +2y—3=0and -3z —6y+9=0;z+2y+1=0

and2x —4y+3=0;3r —2y+5=0and2z +y—9=20

° Watch Video Solution

113. Find the slope of the lines which make an angle of 45° with the line

3z —y+5=0.

° Watch Video Solution



https://dl.doubtnut.com/l/_TMSP0dNJMZqu
https://dl.doubtnut.com/l/_hsVIf8jrSNQF
https://dl.doubtnut.com/l/_bKOLyYnBB5aF
https://dl.doubtnut.com/l/_husdDAI0q4H0

114. . The lines
(a+b)z+ (a—b)y—2ab=0,(a —b)xz + (a + by —2ab=0 and = + g

form an isosceles triangle whose vertical angle is

° Watch Video Solution

115.If the point as (4, 7) and (cos 6, sinf) , where "0

° Watch Video Solution

116. Find the centroid and in-centre of the triangle, equations of whose

sidesare3x —4y =0,12y+5x =0 and y — 15 =10

° Watch Video Solution

117. The vertices of a triangle are [at;ts, a(t; + t3)], [atats, a(ty + t3)],

[atsty, a(t3 + t;)] Then the orthocenter of the triangle is: (a)


https://dl.doubtnut.com/l/_husdDAI0q4H0
https://dl.doubtnut.com/l/_oBOy1zMeTvhX
https://dl.doubtnut.com/l/_Iho23MdVwUgQ
https://dl.doubtnut.com/l/_0MX09OluZBmU
https://dl.doubtnut.com/l/_Y7PkZaoTACTf

( — a, a(t1 + t2 + tg) - at1t2t3) (b) ( — a, a(t1 + tz + t3) + a(t1t2t3)

(C) (a, a(t1 + tz + t3) + at1t2t3) (d) (a, a(t1 + t2 + tg) — atltztg)

° Watch Video Solution

118. Find the tangent of the angle between the lines whose intercepts on

the axes are respectivelya, — b and b, — a

° Watch Video Solution

19.  Find the value of &k if the  straight line
2¢ +3y+ 4+ k(6z —y+12) =0 is perpendicular to the line

Tz + by — 4 = 0.

° Watch Video Solution

120. Find the values of 3 so that the point (0, 3) lies on or inside the

triangle having the sides 3z +y+2=0, 2z —3y+5=0 and


https://dl.doubtnut.com/l/_Y7PkZaoTACTf
https://dl.doubtnut.com/l/_C59azb2f4FtV
https://dl.doubtnut.com/l/_3c6exvijpLqN
https://dl.doubtnut.com/l/_pDg34rGs6F3d

x+4y—14 =0.

° Watch Video Solution

121. Find the values of a so that the point P(a2, a) lies inside or on the
triangle formed by the lines z —5y+6=0,2 —3y+2=0 and

x—2y—3=0.

° Watch Video Solution

122. Prove that the area of the parallelogram formed by the lines

a1z +biy+c =0,a1¢ +biy+dy =0,ax + by + co = 0, asx + by +

| (d1 —c1)(dy — ) .
IS sqg. units.
aiby — asby

o Watch Video Solution

123. Show that the diagonals of the parallelogram whose sides are

lz+my+n=0lz+my+n =0,mz+Ily+n=20 and


https://dl.doubtnut.com/l/_pDg34rGs6F3d
https://dl.doubtnut.com/l/_ijqOQ1UqfOdx
https://dl.doubtnut.com/l/_vvOqBd4LAybG
https://dl.doubtnut.com/l/_Lb4njvzPChCC

mz + ly +n’' = 0include an angle /2.

° Watch Video Solution

124. Find the ratio in which the line 3z 4 4y + 2 = 0 divides the distance

between the lines 3z +4y+ 5 =0and 3z + 4y — 5 = 0.

° Watch Video Solution

125. Prove that the area of the parallelogram formed by the lines

xcosa + ysina = p,rcosa + ys € a = q, xcos B + ysinf = randz cos,

° Watch Video Solution

126. Find the equation of the perpendicular bisector of the line segment

joining the points A(2, 3)andB(6, — 5).

° Watch Video Solution



https://dl.doubtnut.com/l/_Lb4njvzPChCC
https://dl.doubtnut.com/l/_lEQnxFfT0Hly
https://dl.doubtnut.com/l/_pePdhuJiiqMY
https://dl.doubtnut.com/l/_iJZwiFRvTfQz
https://dl.doubtnut.com/l/_eJqxs9652123

127. The vertices of a triangle are A(10,4), B( — 4, 0)andC( — 2, 8).

Find the equation of its altitudes.

° Watch Video Solution

128. Two sides of a square lie on the lines ¢ + y = landz + y + 2 = 0.

What is its area?

° Watch Video Solution

129. Prove that the line 5z — 2y — 1 = 0 is mid-parallel ot the lines

br —2y— 9 =0andbx —2y+ 7 = 0.

° Watch Video Solution

130. Find the equation of a line that has y - intercept 4 and is

perpendicular to the line joining (2, — 3)and(4, 2).

| e |


https://dl.doubtnut.com/l/_eJqxs9652123
https://dl.doubtnut.com/l/_IdTAcjtG5ztG
https://dl.doubtnut.com/l/_FM9Auto9HZew
https://dl.doubtnut.com/l/_NnEsgHeNtrrq

I & Watch Video Solution ]

131. P, P, are points on either of the two line y — /3|z| = 2 at a
distance of 5 units from their point intersection. Find the coordinatesof
the foot of perpendiculars drawn from P;, P, on the bisector of the

angle between the given lines.

° Watch Video Solution

132. Find the equation of a line has y — intercept is —4 and is parallel to

the line joining (2, — 5)and(1, 2).

° Watch Video Solution

133. Find the equation of a line passing through (1, 2) and making angle

of 30° with y-axis

° Watch Video Solution



https://dl.doubtnut.com/l/_NnEsgHeNtrrq
https://dl.doubtnut.com/l/_eDwPzxlMdgLS
https://dl.doubtnut.com/l/_xLCkE5cidfB3
https://dl.doubtnut.com/l/_VKYElsJQEV68

134. The vertices of a triangle are
A(zq, z1tanby), B(xy, xotan by)andC(x3, xztan f3). if the circumcentre

of AABC coincides with the origin and H(z, y) is the orthocentre, show
Y sin 01 + sin @y + sin 65

T cos 01 + cos 0y + cos 05

° Watch Video Solution

135. Find the equation of a line which is parallel to y — axis and passes

through ( — 4, 3)-

° Watch Video Solution

136. Find the equation of a line which is equidistant from the lines z = 4

and x = 8.

° Watch Video Solution



https://dl.doubtnut.com/l/_GfInkYfZcsXZ
https://dl.doubtnut.com/l/_rPWULeFsofcl
https://dl.doubtnut.com/l/_3sk239G1ONLZ

137. Find the equation of a straight line which makes an angle of

3
tan ' 4/2 with the x-axis and cuts off an intercept of = 7 with the y-
2

axis

o Watch Video Solution

138. The equation of the base of an equilateral triangle is ¢ + y = 2 and

its vertex is (2, — 1)- Find the length and equations of its sides.

o Watch Video Solution

139. find the slope of a line whose inclination to the positive directioin of

x-axis in anticlockwise sense is i. 60° ii.0 iii. 150 iv. 120°

o Watch Video Solution



https://dl.doubtnut.com/l/_vGkVOPdcRMxH
https://dl.doubtnut.com/l/_dff0He82bUmv
https://dl.doubtnut.com/l/_jvyyvhuArmiE

140. What can be said regarding a line if its slope is i. positive ii. zero iii

negative?

° Watch Video Solution

141. Find the slope of a line which passes through points (3,2) and (-1,5).

° Watch Video Solution

142. Determine x so that 2 is the slope of the line through (2,5) and

(:I?, 3)'

° Watch Video Solution

143.  Without using Pythagoras theorem, show that
A(4,4), B(3,5)and C( — 1, — 1) are the vertices of a right angled

triangle.

| e |


https://dl.doubtnut.com/l/_RvLowKu2vWsb
https://dl.doubtnut.com/l/_RrehSx0whdPq
https://dl.doubtnut.com/l/_05VrMXHdDvbB
https://dl.doubtnut.com/l/_See3LDyoIpCM

l & Watch Video Solution J

144. A quadrilateral has the vertices at the points
(—4,2), (2,6), (8,5)and (9, — 7) . Show that the mid points of the

sides of this quadrilateral are the vertices of a parallelogram.

° Watch Video Solution

145. If the points P(h, k), Q(z1, y1)and R(xzs, ys) lie on a line. Show

that: (b — z1)(y2 — y1) = (k — y1) (@2 — 1)

° Watch Video Solution

146. In figure, time and distance graph of a linear motion is given. Two
positions of time and distance recorded and  when
T =0, D=2andwhenT =3, D = 8. Using the concept of slope,

find law of motion i.e. how distance depends upon time.

° Watch Video Solution



https://dl.doubtnut.com/l/_See3LDyoIpCM
https://dl.doubtnut.com/l/_6ciM0lj9NNad
https://dl.doubtnut.com/l/_mGfZzUKw6vSw
https://dl.doubtnut.com/l/_ENc2bR7S0z5H

147. If points (a, 0), (0, b)and (z, y) are collinear, using the concept of

z Y
I that — + — = 1.
slope prove tha a + b

° Watch Video Solution

148. Prove that :The diagonals of a rhombus bisect each other at right

angle.

° Watch Video Solution

149. Using the concept of slope, prove that medians of an equilateral

triangle are perpendicular to the corresponding sides.

° Watch Video Solution



https://dl.doubtnut.com/l/_ENc2bR7S0z5H
https://dl.doubtnut.com/l/_EqmaL8EuEBb8
https://dl.doubtnut.com/l/_EkDG4BPIzO1V
https://dl.doubtnut.com/l/_5TagJqwoluHQ

150. Prove that that a triangle which has one of the angle as 30° cannot

have all vertices with integral coordinates.

° Watch Video Solution

151. Find the slopes of the lines which make the following angles with the

™ 2

positive direction of x-axis: 1 il. 3

° Watch Video Solution

152. Find the slopes of the lines which make the following angles with the

3 T

positive direction of x-axis: T ii. 3

° Watch Video Solution

153. Find the slope of a line passing through the following point:

(—3,2)and (1,4)

| e |


https://dl.doubtnut.com/l/_9BENny4IBmHV
https://dl.doubtnut.com/l/_XUUuJZrbC4oz
https://dl.doubtnut.com/l/_XtAXG1n4JHCl
https://dl.doubtnut.com/l/_fGSnF8hI1zmf

l & Watch Video Solution J

154. Find the slope of a line passing through the following point:

(at%, 2at1)and (at%, 2at2)

° Watch Video Solution

155. Find the slope of a line passing through the following point:

(3, —5) and (1, 2).

° Watch Video Solution

156. State whether the tow lines in each of the following are parallel,

perpendicular or nether: through (9,5) and (-1,1); through (3,-5) and (8,-3)

° Watch Video Solution



https://dl.doubtnut.com/l/_fGSnF8hI1zmf
https://dl.doubtnut.com/l/_Pd1EyDzroFMZ
https://dl.doubtnut.com/l/_2azbN189evgo
https://dl.doubtnut.com/l/_dl8nSpl7gXhZ

157. State whether the two lines in each of the following are parallel,

perpendicular or neither: through (5,6) and (2,3); through (9,-2) and (6,-5)

° Watch Video Solution

158. State whether the two lines in each of the following are parallel,

perpendicular or neither: through (6,3) and (1,1); through (-2,5) and (2,-5)

° Watch Video Solution

159. State whether the two lines in each of the following are parallel,
perpendicular or neither: passing through (3,15) and (16,6); passing

through (-5,3) and (8,2)

° Watch Video Solution



https://dl.doubtnut.com/l/_DbM0obNBgRNR
https://dl.doubtnut.com/l/_S9aU8pMxY3X0
https://dl.doubtnut.com/l/_m6zlAyNXkBdU

160. Find the slope of a line i. which bisects the first quadrant angle ii.
which makes an angle of 30° with the positive direction of y-axis

measured anticlockwise.

° Watch Video Solution

161. Using the method of slope, show that the following points are

collinear: A(4, 8), B(5,12), C(9, 28)

° Watch Video Solution

162. Using the method of slope, show that the following points are

collinear: A(16, — 18), B(3, — 6), C( — 10, 6)

° Watch Video Solution



https://dl.doubtnut.com/l/_3XZyWGkKZYiP
https://dl.doubtnut.com/l/_JiQH7F12q0AT
https://dl.doubtnut.com/l/_W8x6NB957i0U

163. What is the value of y so that the line through (3, y)and (2, 7) is

parallel to the line through ( — 1, 4)and (0, 6) ?

° Watch Video Solution

164. What can be said regarding a line if its slope is i. positive ii. zero iii

negative?

° Watch Video Solution

165. Show that the line joining (2,-3) and (-5,1) is parallel to the line joining

(7,-1) and (0,3).

° Watch Video Solution

166. Show that the line joining (2,-5) and (-2, 5) is perpendicular to the line

joining (6,3) and (1,1).

| e |


https://dl.doubtnut.com/l/_GrgtNXT7UCee
https://dl.doubtnut.com/l/_BKLQPzlsQ3ke
https://dl.doubtnut.com/l/_Eb6PscpdFBMy
https://dl.doubtnut.com/l/_WUle3L6WvhAx

I & Watch Video Solution

167. Without using Pythagoras theorem, show that the points

A(0,4), B(1,2)and C(3, 3) are the vertices of a right angled triangle.

° Watch Video Solution

168. Prove that the points (-4, -1), (-2, -4), (4,0) and (2,3) are the vertices of

a rectangle.

° Watch Video Solution

169. If three points A(h, 0), P(a, b)and B(0, k) lie on a line, show that:

a
22
AR

° Watch Video Solution



https://dl.doubtnut.com/l/_WUle3L6WvhAx
https://dl.doubtnut.com/l/_aUr9OlrhI07s
https://dl.doubtnut.com/l/_NyfJlMNHa40n
https://dl.doubtnut.com/l/_JoE0yzFKhNSK

170. The slope of a line is double of the slope of another line. If tangent of

1
the angle between them is 3 find the slopes of the lines.

° Watch Video Solution

171. Consider the following population and year graph: find the slope of

the line AB and using it find what will be the population in the year 2010.

° Watch Video Solution

172. Without using distance formula, show that points (—2, — 1) ,

(4,0),(3,3) and ( — 3, 2) are the vertices of a parallelogram.

° Watch Video Solution

173. Find the angle between the X-axis and the line joining the points

(3, —1)and (4, — 2).

| e |


https://dl.doubtnut.com/l/_gqregaQdMvDX
https://dl.doubtnut.com/l/_Uri2GD0OgZSe
https://dl.doubtnut.com/l/_0xaWGavKazFz
https://dl.doubtnut.com/l/_kKmjnugvf8oC

| & Watch Video Solution I

174. Line through the points (-2,6) and (4,80 is perpendicular to the line

through the points (8,12) and (z, 24). Find the value of z.

° Watch Video Solution

175. Find the value of x for which the points (z — 1), (2, 1)and (4, 5) are

collinear.

° Watch Video Solution

176. Find the angle between X-axis an the line joining the points (-3,-1) and

(4,2).

° Watch Video Solution



https://dl.doubtnut.com/l/_kKmjnugvf8oC
https://dl.doubtnut.com/l/_Ha15005uk3oP
https://dl.doubtnut.com/l/_rrwghiPpcbuc
https://dl.doubtnut.com/l/_HNeojUmglZVm

177. By using the concept of slope, show that the points (-2,-1), (4,0), (3,3)

and (-3,2) are the vertices of a parallelogram.

° Watch Video Solution

178. A quadrilateral has vertices (4,1), (1,7),( — 6,0) AND ( — 1, — 9).
Show that mid-points of the sides of this quadrilateral form a

parallelogram.

° Watch Video Solution

179. Write down the equation of the following lines: x-axis

° Watch Video Solution

180. Write down the equation of the following lines: y - axis

° Watch Video Solution



https://dl.doubtnut.com/l/_kj2KnSo6v1s6
https://dl.doubtnut.com/l/_SbZdcEywYARF
https://dl.doubtnut.com/l/_u5O7GzH86BHD
https://dl.doubtnut.com/l/_2ZompMwep0Kn

181. Write down the equation of the following lines: A line parallel to x-

axis at a distance of 3 units below x-axis.

° Watch Video Solution

182. Write down the equation of the following lines: a line parallel to y-

axis at a distance of 5 units on the left hand side of it.

° Watch Video Solution

183. Find the equation of a line which is parallel to x-axis and passes

through (3,-5).

° Watch Video Solution



https://dl.doubtnut.com/l/_2ZompMwep0Kn
https://dl.doubtnut.com/l/_hJxBXoX1GmmI
https://dl.doubtnut.com/l/_9dq2PTCsINO5
https://dl.doubtnut.com/l/_EivkbMNBim1e

184. Find the equation of the line parallel to x-axis and passing through

(3,-5).

° Watch Video Solution

185. Find the equation of the line perpendicular to x-axis and having

intercept -2 on x-axis.

° Watch Video Solution

186. Find the equation of the line parallel to x-axis of and having intercept

-2 on y-axis.

° Watch Video Solution

187. Find the equation of the line parallel to x-axis of and having intercept

-2 on y-axis.

| e |


https://dl.doubtnut.com/l/_KyrR11A7Qg3r
https://dl.doubtnut.com/l/_lsgKODDzpjuM
https://dl.doubtnut.com/l/_MmXjrXQhq6fk
https://dl.doubtnut.com/l/_DPuDbvHm5xtK

I & Watch Video Solution

188. Draw the lines = — 3, x =2, y= — 2, y =3 and write the

coordinates of the vertices of the square so formed.

° Watch Video Solution

189. Find the equations of the straight lines which pass through (4,3) and

are respectively parallel and perpendicular to the x-axis.

° Watch Video Solution

190. Find the equation of a line which is equidistant from the lines

= —2andx = 6.

° Watch Video Solution



https://dl.doubtnut.com/l/_DPuDbvHm5xtK
https://dl.doubtnut.com/l/_9RwjFgHTlDRX
https://dl.doubtnut.com/l/_KLES9oenPYRq
https://dl.doubtnut.com/l/_DbKyy5BnS0Xy

191. find the equation of a line equidistant from the lines

y=10andy = — 2.

° Watch Video Solution

192. Find the equation of a line with slope -1 and cutting of fan intercept

of 4 units on negative direction of y-axis.

° Watch Video Solution

193. Find the equation of a straight line which cuts off an intercept of 5
units on negative direction of y-axis and makes an angle 120° with the

positive direction of x-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_IauO4cUJgL93
https://dl.doubtnut.com/l/_rwD56sBVSGvG
https://dl.doubtnut.com/l/_tFyD8rK2zsiH

194. Find the equation of a straight line cutting off and intercept -1 from

y-axis and being equally inclined to the axes.

° Watch Video Solution

195. Find the equation of straight line which cuts off and intercept of
length 3 on y-axis and is parallel to the line joining the points (3,-2) and

(1,4).

° Watch Video Solution

196. Find the equation of the straight line which makes an angle of 15°
with the positive direction of x-axis and which cuts and intercept of

length 4 on then negative direction of y-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_lUzAy1m7pBdy
https://dl.doubtnut.com/l/_ipvvgbY73rhe
https://dl.doubtnut.com/l/_DUwixGDUOPse

197. Find the equation of a line making an angle of 150° with the x-axis

and cutting off an intercept 2 from yaxis.

° Watch Video Solution

198. Find the equation of a straight line: with slope 2 and y-intercept 3;

° Watch Video Solution

199. Find the equation of a straight line: with slope -2 and intersecting

the x-axis at a distance of 3 units to the left of origin.

° Watch Video Solution

200. Find the equation of a straight line: with slope -1/3 and y-intercept

-4,

° Watch Video Solution



https://dl.doubtnut.com/l/_IDe2mYmzwglZ
https://dl.doubtnut.com/l/_gtNwNXMoYz09
https://dl.doubtnut.com/l/_F9dOStBSGsPr
https://dl.doubtnut.com/l/_mNd6DXX32CsU

201. Find the equation of a line which makes an angle of tan~*(3) with
the x-axis and cuts off and intercept of 4 units on negative direction of y-

axis.

° Watch Video Solution

202. Find the equation of a line which is perpendicular to the line joining

(4,2) and (3,5) and cuts off and intercept of length 3 on y-axis.

° Watch Video Solution

203. Find the equation of the perpendicular to the segment joining (4,3)

and (-1,1) if it cuts off and intercept -3 from y-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_mNd6DXX32CsU
https://dl.doubtnut.com/l/_Gdr8kAkHrXSZ
https://dl.doubtnut.com/l/_MvjFT4VbAarc
https://dl.doubtnut.com/l/_GLnIFz8mD1Et

204. Find the equation of the straight line interesting y-axis at a distance
of 2 units above the origin and making an angle of 0° with the positive

direction of the x-axis

° Watch Video Solution

205. Find the equation a line passing through (2,-3) and inclined at an

angle of 15° with the positive direction of x-axis.

° Watch Video Solution

206. Determine the equation of line through the point (-4 -3) and parallel

to x-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_fMxfDBZKkjX6
https://dl.doubtnut.com/l/_fKOrJMR1RcJI
https://dl.doubtnut.com/l/_negCt5FXFyA3

1
207. Find the equation of the line for which tanf = 2 where 6 is the

3
inclination of the line and i. x-intercept equal to 4. li. y-intercepts is — 3

° Watch Video Solution

208. The perpendicular from the origin to a line meets it at the point (-2,

9) find the equation of the line.

° Watch Video Solution

209. Find the equation of the line passing through the point (0,2) making

2
an angle 3 with the positive x-axis. Also, find equation of line parallel to

it and crossing the y-axis at a distance of 2 units below the origin.

° Watch Video Solution



https://dl.doubtnut.com/l/_VyjstczCKtxV
https://dl.doubtnut.com/l/_QtV6oPFSgePA
https://dl.doubtnut.com/l/_Jy5KJH4AI415

210. Two lines passing through the point (2,3) intersect each other at an

angle 60° . If slope of one line is 2, find the equation of the other line.

° Watch Video Solution

211. Find the equation of the line passing through (-3,5) and

perpendicular to the line through the points (2,5) and (-3,6).

° Watch Video Solution

212. A line perpendicular to the in segment joining the points (1,0) and

(2,3) divides it in the ratio 1: nn . Find the equation of the line.

° Watch Video Solution

213. Find the equation of the perpendicular bisector of the line segment

joining the points (1,1) and (2,3).

| e |


https://dl.doubtnut.com/l/_dfCGsh60MRO5
https://dl.doubtnut.com/l/_QGdksPgv9fph
https://dl.doubtnut.com/l/_j5aE5c70DCTM
https://dl.doubtnut.com/l/_f4lmS294zbr3

| & Watch Video Solution I

214.Find the equation of the straight line passing through the point (6,2)

and having slope -3.

° Watch Video Solution

215. Find the equation the straight line passing through (-2,3) and

inclined at an angle of 45° with the x-axis.

° Watch Video Solution

216. Find the equation of the line passing through (0,0) with slope m.

° Watch Video Solution



https://dl.doubtnut.com/l/_f4lmS294zbr3
https://dl.doubtnut.com/l/_hpFflzqf0tdJ
https://dl.doubtnut.com/l/_kzOwyiBivxY3
https://dl.doubtnut.com/l/_ruWC2yITkmog

217.Find the equation of the line passing through (2, 2\/3) and inclined

with x-axis at an angle of 75° .

° Watch Video Solution

218. Find the equation of the straight line which passes through the point

(1,2) and makes such an angle with the positive direction of x-axis whose

.3
sineis — .
5

° Watch Video Solution

219. Find the equation of the straight line passing through (3,-2) and

making an angle of 60° with the positive direction of y-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_PVVJCbQns97k
https://dl.doubtnut.com/l/_ASN1Tx1qJJXW
https://dl.doubtnut.com/l/_iKyTKVN5VcXv

2
220. Find the lines through the point (0,2) making angles % and?ﬂ- with

the x-axis. Also, find the lines parallel to the cutting the y-axis at a

distance of 2 units below the origin.

° Watch Video Solution

221. Find the equation of the straight lines which cut off an intercept 5

from the y-axis and are equally inclined to the axes.

° Watch Video Solution

222. Find the equation of the line which intercepts a length 2 on the
positive direction of the x-axis and is inclined at an angle of 135° with the

positive direction of y-axis .

° Watch Video Solution



https://dl.doubtnut.com/l/_8pNAAxri5V5Y
https://dl.doubtnut.com/l/_il1tHmAVOOve
https://dl.doubtnut.com/l/_FsSAl50rOUac

223. Find the equation of the straight line which divide the join of the

points (2,3) and (-5,8) in the ratio 3:4 and is also perpendicular to it.

° Watch Video Solution

224. Find the equation of the right bisector of the line segment joining

the points (3,4) and (-1,2).

° Watch Video Solution

225. Find the equation of the right bisector of the line segment joining

eth points A(1, 0)and B(2, 3)

° Watch Video Solution

226. Find the equation of the |line joining the points

(—1,3)and (4, — 2).

| e |


https://dl.doubtnut.com/l/_1bpUJMoUGGIX
https://dl.doubtnut.com/l/_F6RCmgVKJV2P
https://dl.doubtnut.com/l/_t164y3CVJtjw
https://dl.doubtnut.com/l/_CWG3aoxkukrs

I & Watch Video Solution

227.Find the equation of the medians of the triangle ABC whose vertices

are A(2,5)B( —4,9)and C( — 2, — 1).

° Watch Video Solution

228. Prove that the points (5,1), (1, — 1)and (11, 4) are collinear. Also

find the equation of the straight line on which these points lie.

° Watch Video Solution

229. The Fahrenheit temperature F and absolute temperature K satisfy a

linear equation. Given that K = 273 when ' = 32 and that
K = 373 whenF = 212.Express Kin terms of F and find the
valueof Fwhen Kk = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_CWG3aoxkukrs
https://dl.doubtnut.com/l/_qUXIeVP61A0k
https://dl.doubtnut.com/l/_aRNd6sJjLGr5
https://dl.doubtnut.com/l/_Cffox1LrtWmX

230. Find the equation of the straight lines passing through the following

pair of point: (0, 0)and (2, — 2).

° Watch Video Solution

231. Find the equation of the straight lines passing through the following

pair of point: (0, — a)and (ats, a/ts)

° Watch Video Solution

232.Find the equation of the straight lines passing through the following

pair of point: (aty, a/t,) and (aty, a /ts)

° Watch Video Solution

233. Find the equation of the straight lines passing through the following

pair of point: (a, b)and (a + csina, b+ ccos a)

| e |


https://dl.doubtnut.com/l/_UUvK0LD7Ifju
https://dl.doubtnut.com/l/_Ao1OwH6bS2KN
https://dl.doubtnut.com/l/_oMyzXMu11sTz
https://dl.doubtnut.com/l/_XK71LlhEQrlg

I & Watch Video Solution

234. Find the equation of the straight lines passing through the following

pair of point: (a, b)and (a + b, a — b)

° Watch Video Solution

235. Find the equation of the straight lines passing through the following

pair of point: (a cos a, asina)and (a cos B, asinf)

° Watch Video Solution

236. Find the equations to the sides of the triangles of the coordinates of

whose angular points are respectively: (1,4), (2,-3) and (-1, -2).

° Watch Video Solution



https://dl.doubtnut.com/l/_XK71LlhEQrlg
https://dl.doubtnut.com/l/_VL89DHMIw1OO
https://dl.doubtnut.com/l/_Z7jalDFEGh8y
https://dl.doubtnut.com/l/_raN4SzayOGAd

237. If the coordinates of the vertices of triangle ABC are
(—1,6),(—3, —9)and (5, — 8) , respectively, then find the equation

of the median through C.

° Watch Video Solution

238. Find the equation of the side BC of the triangle ABC whose vertices
are A(—1, —2), B(0,1)andC(2,0) respectivley. Also, find the

equation of the median through A( — 1, — 2).

° Watch Video Solution

239. By using the concept of equation of a line, prove that the three

points (3, 0),(-2, —2)and (8, 2)are collinear.

° Watch Video Solution



https://dl.doubtnut.com/l/_vjomEWwy254o
https://dl.doubtnut.com/l/_Dbueew4YbkuU
https://dl.doubtnut.com/l/_O2vombY2Qd4p

240. Prove that the line y — x + 2 = 0 divides the join of points (3,1)

and (8,9) in the ratio 2:3.

° Watch Video Solution

241. Find the equation to the straight line which bisects the distance
between the points (a,b), (a’,b’) and also bisects the distance

between the points ( — a, b)and (a’, —b').

° Watch Video Solution

242.In what ratio is the line joining the points (2, 3)and (4, — 5) divided

by the line passing through the points (6,8) and (-3,-2).

° Watch Video Solution



https://dl.doubtnut.com/l/_GlKoZwaOYGCY
https://dl.doubtnut.com/l/_pLRerrnCU81G
https://dl.doubtnut.com/l/_pDgslbUBUukN

243. The vertices of a quadrilateral are
A(—2,6), B(1,2), C(10,4)andD(7,8) . Find the equations of its

diagonals.

° Watch Video Solution

244.The length L (in centimetre) of a copper rod is a linear function of its

Celsius temperature C. In an experiment, if L = 124. 942 when
C = 20and L= 125.134 when C = 110, express L in
terms of C.

° Watch Video Solution

245. Find the equation of the line which cuts off an intercept 4 on the
positive direction of x-axis and an intercept 3 on the negative direction of

y-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_JoIcydXSWiWq
https://dl.doubtnut.com/l/_MWTuou6FI0Kj
https://dl.doubtnut.com/l/_MoH00dwLNcuN

246. Find the equation of the straight line which makes equal intercepts

on the axes and passes through the point (2,3).

° Watch Video Solution

247. Find the equation of the line which cuts off equal and positive

intercepts from the axes and passes through the point (a, )

° Watch Video Solution

248. Find the equation of a straight line which passes through the point

(4,-2) and whose intercept on y-axis is twice that on x-axis.

° Watch Video Solution

249. Find the equation of the straight line whose intercepts on X-axis and

Y-axis are respectively twice and thrice of those by the line


https://dl.doubtnut.com/l/_PH5XoKDiJzpV
https://dl.doubtnut.com/l/_YQmKd4MAWzv7
https://dl.doubtnut.com/l/_TSLzlYTCGbGN
https://dl.doubtnut.com/l/_r8nYxfTMutte

3z + 4y = 12.

° Watch Video Solution

250. Find the equation of the line through (2,3) so that the segment of

the line intercepted between the axes is bisected at this point.

° Watch Video Solution

251. A line passes through the point (3,-2). Find the locus of the middle

point of the portion the line intercepted between the axes.

° Watch Video Solution

252. Find the equations of the lines, which cut-off intercepts on the axes

whose sum and product are 1 and — 6, respectively.

° Watch Video Solution



https://dl.doubtnut.com/l/_r8nYxfTMutte
https://dl.doubtnut.com/l/_6MKkLFPf8lLJ
https://dl.doubtnut.com/l/_wzbr0fJ8e1nM
https://dl.doubtnut.com/l/_5VYxiMmJm3Eu
https://dl.doubtnut.com/l/_REUR3RHe6YZP

253. Find equation of lines pass through origin and trisect the intercept

of line 3x +4y -12 between the axes.

° Watch Video Solution

254. Find the equation to the straight line: cutting off intercepts 3 and 2

from the axes.

° Watch Video Solution

255. Find the equation to the straight line: cutting off intercepts -5 and 6

from the axes.

° Watch Video Solution

256. Find the equation to the straight line which passes through the

point (5,6) and has intercepts on the axes. i)equal in magnitude and both


https://dl.doubtnut.com/l/_REUR3RHe6YZP
https://dl.doubtnut.com/l/_CHntdM9klFSI
https://dl.doubtnut.com/l/_hlgjOhFZ6lGR
https://dl.doubtnut.com/l/_VNWgoxF9BYR1

postive ii)equal in magnitude but opposite in sign

° Watch Video Solution

257. A straight line passes through the point (a, ) and this point bisects

the portion of the line intercepted between the axes. Show that the

equation of the straight line is i + — A = 1.

26

° Watch Video Solution

258. Point R (h, k) divides a line segment between the axes in the ratio

1:2.Find equation of the line.

° Watch Video Solution

259. Find the equation of the straight line which passes through the
point (-3, 8) and cuts off positive intercepts on the coordinate axes whose

sum is 7.



https://dl.doubtnut.com/l/_VNWgoxF9BYR1
https://dl.doubtnut.com/l/_qPSiyjLj4WBo
https://dl.doubtnut.com/l/_z7eO1sDxhbso
https://dl.doubtnut.com/l/_iLwlhXSyEnFG

| ° Watch Video Solution

260. The equation of straight line which passes through the point (-4,3)
such that the portion of the line between the axes is divided by the point

in ratio 5:3 is -

° Watch Video Solution

261. Find the equation of a line which passes through the point (22, — 6)
and is such that the intercept on x-axes exceeds the intercept on y-axis by

5.

° Watch Video Solution

262. Find the equation of the line which passes through P(1, — 7) and

meets the axes at AandB respectively so that 4AP — 3BP = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_iLwlhXSyEnFG
https://dl.doubtnut.com/l/_t5kawUJXVWkO
https://dl.doubtnut.com/l/_kydUOuQdkJtr
https://dl.doubtnut.com/l/_W0ABeA9Rkx0r

263. Find equation of the line passing through the point (2, 2) and cutting

off intercepts on the axes whose sum is 9.

° Watch Video Solution

264. Find the equation of straight line which passes through the point
P(2,6) and cuts the coordinate axis at the point A and B respectively so

that AP:BP=2:3.

° Watch Video Solution

265. Find the equations of the straight lines which pass through the
origin and trisect the portion of the straight line 2z + 3y = 6 which is

intercepted between the axes.

° Watch Video Solution



https://dl.doubtnut.com/l/_6Rfr0CWOsUNO
https://dl.doubtnut.com/l/_mwtNoFYgq63v
https://dl.doubtnut.com/l/_9BrU1F0MLiBW

266. find the equation of the straight line passing through (2,1) and
bisecting the portion of the straight line 3z — 5y = 15 lying between the

axes.

° Watch Video Solution

267. Find the equation of the straight line passing through the origin and
bisecting the portion of the line az + by + ¢ = 0 intercepted between

the coordinate axes.

° Watch Video Solution

268. Find the equation of the straight line which is at a distance 3 from
the origin and perpendicular from the origin to the line makes an angle

of 30° with the positive direction of the x-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_5zPDXW36pJBe
https://dl.doubtnut.com/l/_nhUkYnpvo46U
https://dl.doubtnut.com/l/_5CrRcosrNiXj
https://dl.doubtnut.com/l/_WZmGndaeHyCV

269. the length of the perpendicular from the origin to a line is 7 and a
line makes an angle of 150° with the positive direction of y-axis . then the

equation of the line is:

° Watch Video Solution

270. Find the equation of the straight line upon which the length of
perpendicular from origin is 34/2 units and this perpendicular makes an

angle of 75° with the positive direction of x-axis.

° Watch Video Solution

271.Find the equation of a line for which: p = 5, a = 60°

° Watch Video Solution

272.Find the equation of a line for which: p = 8, a = 225°

° Watch Video Solution



https://dl.doubtnut.com/l/_WZmGndaeHyCV
https://dl.doubtnut.com/l/_9u5n8YNkAjqn
https://dl.doubtnut.com/l/_gqbYNwUkpAfn
https://dl.doubtnut.com/l/_XAfyJNdkLLiV

273.Find the equation of a line for which: p = 8, a = 300°

° Watch Video Solution

274.Find the equation of the line whose perpendicular distance from the
origin is 4 units and the angle which the normal makes with positive

direction of xaxis is 150 .

° Watch Video Solution

275. Find the equation f the straight line at a distance of 3 units from the
origin such that the perpendicular from the origin to the line makes and

5
angle a given by tana = T2 with the positive direction of x-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_XAfyJNdkLLiV
https://dl.doubtnut.com/l/_qD3BtWBplfNj
https://dl.doubtnut.com/l/_aMZ9UJtCpuX7
https://dl.doubtnut.com/l/_84hBAp3NAHa0

276. Find the equation of the straight line upon which the length of the

perpendicular from the origin is 2 and the slope of this perpendicular is

5
12

° Watch Video Solution

277. The length of the perpendicular from the origin to a line is 7 and a
line makes an angle of 150° with the positive direction of z-axis . then

the equation of the line is:

° Watch Video Solution

278. Find the values of 6 and p, if the equation x cos § + ysinf = pis the

normal form of the line /3z + y + 2 = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_8t8zR81WjwmO
https://dl.doubtnut.com/l/_70aEC8pizlVi
https://dl.doubtnut.com/l/_ZqHC4xNGGFOS

279. A straight line drawn through the point P(2, 3) and is incline at an
angle of 30° with the x-axis. Find the coordinates of two points on it a

distance 4 from P on either side of P.

° Watch Video Solution

280. Find the distance of the line 4z -y = 0 from the point P(4, 1)

measured along the line making an angle of 1350 with the positive xaxis.

° Watch Video Solution

281. Find the distance of the line 4z + 7y + 5 = 0 from the point (1, 2)

along theline2z —y = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_IJUBJC0AB7vw
https://dl.doubtnut.com/l/_PZ3Zkdw1tcjP
https://dl.doubtnut.com/l/_YGdgmUk0WLXF

282. Find the direction in which a straight line must be drawn through
the point ( —1, 2) so that its point of intersection with the line

x + 'y = 4maybe at adistance of 3 units from this point.

° Watch Video Solution

283. A line is such that its segment between the lines 5z — y + 4 = 0 and

3z + 4y — 4 = 0'is bisected at the point (1,5). Obtain its equation.

° Watch Video Solution

e
6
with x-axis and meets the line 12 x + 5y + 10 = 0 at Q, Then the length of

284.If the straight line passes through the point P(3,4) makes an angle

PQis:

° Watch Video Solution



https://dl.doubtnut.com/l/_30vh8ZjGVqba
https://dl.doubtnut.com/l/_l12jbZ18AROh
https://dl.doubtnut.com/l/_pfr7yzRrcoCF

285. A Straight line drawn through the point A(2, 1) making an angle
7 /4 with positive x-axis intersects another line z + 2y + 1 = 0 in the

point B. Find length AB .

° Watch Video Solution

286. a line drawn through A(4, — 1) parallel to the line3z —4y+1 =0
. Find the coordinates of two points on this line which are at a distance of

5 units from A

° Watch Video Solution

287. The straight line through P(x1, y;) inclined at an angle 6 with the x-

axis meets the lineaxz + by + ¢ = 0 € Q- Find the length of PQ.

° Watch Video Solution



https://dl.doubtnut.com/l/_pLGTAwY2mtj9
https://dl.doubtnut.com/l/_HRUeCYpKhWED
https://dl.doubtnut.com/l/_9wgYG44D96I7

288. Find the distance of point (2,3) from the line 22 —3y+9=10

measured along a line making an angle of 45° with the x-axis.

° Watch Video Solution

289. Find the distance of the point (2,5) from the line 3z +y+4 =0

measured parallel to a line having slope 3/4.

° Watch Video Solution

290. Find the distance of the point (3,5) from the line 2z + 3y = 14

measured parallel to the line x — 2y = 1.

° Watch Video Solution

291. Find the distance of the point (2,5) from the line 3z +y+4 =0

measured parallel to the line3z — 4y +8 =0

| e |


https://dl.doubtnut.com/l/_zVI4RNsZiZ3b
https://dl.doubtnut.com/l/_5rhkXp1y1Y4m
https://dl.doubtnut.com/l/_SqmUAgZaAYkF
https://dl.doubtnut.com/l/_Dzj2ucGgqcoY

I & Watch Video Solution

292. Find the distance of the line 2z + y = 3 from the point( — 1, — 3)

in the direction of the line whose slope is 1.

° Watch Video Solution

293. A line is such that its segment between the lines 5z —y+4 =0

and 3z + 4y — 4 = O is bisected at the point (1,5). Obtain its equation.

° Watch Video Solution

294. The equation of straight line passing through (-2,7) and having an
intercept of length 3 between the straight lines : 4x + 3y =12 ,4x + 3y =3

are:(A)7x+24y+182=0(B) 7x +24y+18=0(C)x+2=0(D)x-2=0

° Watch Video Solution



https://dl.doubtnut.com/l/_Dzj2ucGgqcoY
https://dl.doubtnut.com/l/_HCLxVBz2NVJ2
https://dl.doubtnut.com/l/_Ch1pCYUTOPrt
https://dl.doubtnut.com/l/_tFuFg4UL9mme
https://dl.doubtnut.com/l/_Luvqglc7fWhf

295. Reduce the lines 3z —4y+4 =0 and 4z — 3y + 12 = 0 to the

normal form and hence determine which line is nearer to the origin.

° Watch Video Solution

296. Find the values of k for which the line (k— 3)z — (4 — k2)
Y+ k> — 7k + 6 = 0 is (a) Parallel to the xaxis, (b) Parallel to the y axis,

(c) Passing through the origin.

° Watch Video Solution

297. Find the equation of a line with slope 2 and the length of the

perpendicular form the origin equal to /5.

° Watch Video Solution

298. Prove that the slope of a line is invariant under the translation of the

axes.



https://dl.doubtnut.com/l/_Luvqglc7fWhf
https://dl.doubtnut.com/l/_fA9Os3cIdx2X
https://dl.doubtnut.com/l/_nft9Chkkf6Og
https://dl.doubtnut.com/l/_OrAiKBmAIZOI

| ° Watch Video Solution

299. The line 2x — y = 5 turns about the point on it, whose ordinate and
abscissae are equal through an angle of 45° in the anti-clockwise

direction. Find the equation of the line in the new position.

° Watch Video Solution

300. Reduce the equation /32 + y + 2 = 0 to: (a) Slope intercept form
and find slope and y-intercept. (b) Intercept form and find intercept on

the axes (c) The normal form and find p and

° Watch Video Solution

301. Reduce the following equations to the normal form and find p and o

ineach case:z + /3y —4 =10

° Watch Video Solution



https://dl.doubtnut.com/l/_OrAiKBmAIZOI
https://dl.doubtnut.com/l/_v0UI7pHnKu6e
https://dl.doubtnut.com/l/_C7hxRwCafZx3
https://dl.doubtnut.com/l/_KYyWHsevJXSs

302. Reduce the following equations to the normal form and find p and o

ineachcase:z +y — /2 =10

° Watch Video Solution

303. Reduce the following equations to the normal form and find p and «

ineachcase:z —y + 22 =10

° Watch Video Solution

304. Reduce the following equations to the normal form and find p and «

ineachcase:x —3 =0

° Watch Video Solution

305. Reduce the following equations to the normal form and find p and «

ineachcase:y —2 =10

| e |


https://dl.doubtnut.com/l/_QoBCUZX3veiI
https://dl.doubtnut.com/l/_EWmGZY7A5ApA
https://dl.doubtnut.com/l/_1ITVM5nKjFzH
https://dl.doubtnut.com/l/_GNCME21evY4r

I & Watch Video Solution

306. Put the equation % + Y _ 1 to the slope intercept form and find

b

its slope and y-intercept

° Watch Video Solution

307. Reduce the lines 3z —4y+4=0and2x +4y —5 =0 to the

normal form and hence find which line is nearer to the origin.

° Watch Video Solution

308. Show that the origin is equidistant from the lines

4z + 3y + 10 = 0; b — 12y + 26 = 0 and 7z + 24y = 50.

° Watch Video Solution



https://dl.doubtnut.com/l/_GNCME21evY4r
https://dl.doubtnut.com/l/_pppb4e7nxj2E
https://dl.doubtnut.com/l/_g52hyFlVMY9I
https://dl.doubtnut.com/l/_WSdijCc0Xxxz

309. Find the values of 8 and p, if the equation z cos @ + ysinf = pis the

normal form of the line /3z + y + 2 = 0.

° Watch Video Solution

310. Reduce the equation 3z — 2y + 6 = 0 to the intercept form and find

the z and y intercepts.

° Watch Video Solution

311. The perpendicular distance of a line from the origin is 5 units and its

slope is -1. Find the equation of the line.

° Watch Video Solution

312. Find the coordinates of the point of intersection of the lines

2 —y+3=0andz +2y—4=0.

| e |


https://dl.doubtnut.com/l/_DoNIcoB8kLR7
https://dl.doubtnut.com/l/_5IHhzDKkB0Hr
https://dl.doubtnut.com/l/_OBl3P5S6iTCZ
https://dl.doubtnut.com/l/_lkAcQkYDz8zl

I &J Watch Video Solution

313. Find the area of the triangle formed by the lines

y=x,y=2z,y=3x +4

° Watch Video Solution

314. Find the equations of the medians of a triangle, the equations of

whose sides are : 3x+2y+6=0, 2x-5y+4=0 and x-3y-6=0.

° Watch Video Solution

315. Show that the area of the triangle formed by the lines

(a1 — )

y=mix +c,y=mexr +c2andzxz =0is
2\m1—m2]

° Watch Video Solution



https://dl.doubtnut.com/l/_lkAcQkYDz8zl
https://dl.doubtnut.com/l/_G3xJY3ZE5ysw
https://dl.doubtnut.com/l/_p4jbTm6S3LlV
https://dl.doubtnut.com/l/_ELVM6N5ed7pm

316. Find the equation of the line parallel to y-axis and drawn through the

point of intersection of thelinesx — 7y +5 = 0and 3z + y = 0.

° Watch Video Solution

317. Find the point of intersection of the following pairs of lines:

2t —y+3=0andz+y—5=0

° Watch Video Solution

318. Find the point of intersection of the following pairs of lines:

bx + ay = aband bx + ay = ab

° Watch Video Solution

319. Find the point of intersection of the following pairs of lines:

a a
y=miz + —andy = mexr + —.
mi ma

| e ]


https://dl.doubtnut.com/l/_Rz6PclyFjFq4
https://dl.doubtnut.com/l/_2BTizAmwWH1e
https://dl.doubtnut.com/l/_zLZhWJ29BN1s
https://dl.doubtnut.com/l/_u0yYTrBC2v3A

I & Watch Video Solution

320. Find the coordinates o the vertices of a triangle, the equations of

whosesidesare:z +y—4 =0, 2r —y+3=0andz —3y+2=0

° Watch Video Solution

321. Find the coordinates o the vertices of a triangle, the equations of
whose sides are:

y(ty + t3) = 2z + 2atiats, y(ts + t3) = 2z + 2atstz and , y(ts + t1) = 2z

° Watch Video Solution

322. Show that the area of the triangle formed by the lines

(a1 — )

y=mix +c,y=mexr +c2andzxz =0is
2\m1—m2]

° Watch Video Solution



https://dl.doubtnut.com/l/_u0yYTrBC2v3A
https://dl.doubtnut.com/l/_IKoyLcA70RBw
https://dl.doubtnut.com/l/_eOAf9MLTln2Z
https://dl.doubtnut.com/l/_pOjsje6ujBIM
https://dl.doubtnut.com/l/_oqtH4udeiVrf

323. Find the area of triangle formed by the Ilines
y=0,z=2andzx + 2y = 3.

° Watch Video Solution

324. Find the area of triangle formed by the lines

r+y—6=0,x—3y—2=0andd5z —3y+2=0

° Watch Video Solution

325. Find the equations of the medians of a triangle, the equations of

whose sides are:
3r+2y+6=0,2x —by+4=0andz —3y—6=0

° Watch Video Solution
326. Prove that the lines y = 3z + 1, y=4ndy = — /3z + 2 form

an equilateral triangle.


https://dl.doubtnut.com/l/_oqtH4udeiVrf
https://dl.doubtnut.com/l/_Dxjjt6PjXNQE
https://dl.doubtnut.com/l/_ETZ2I3tkSL5o
https://dl.doubtnut.com/l/_RYGN98RcCCIC

° Watch Video Solution

327. Classify the following pairs of lines as coincident, parallel or

intersecting: 2z +y—1=0and3x +2y+5=0

° Watch Video Solution

328. Classify the following pairs of lines as coincident, parallel or

intersecting: 3z + 2y —4 =0and 6z + 4y — 8 =0

° Watch Video Solution

329. Find the equation of the line joining the point (3,5) to the point of

intersection of thelinesdz +y—1=0and 7Tx — 3y —35=0

° Watch Video Solution



https://dl.doubtnut.com/l/_RYGN98RcCCIC
https://dl.doubtnut.com/l/_pqXjAeVn6hD3
https://dl.doubtnut.com/l/_FKLteAdHnr4q
https://dl.doubtnut.com/l/_q1eTEUS92krQ

330. Find the equation of the line passing through the point of
intersection of the lines 4o — 7Ty — 3 = O and 2z — 3y + 1 = 0 that has

equal intercept to axes.

° Watch Video Solution

331. Show that the area of the triangle formed buy the lines
y=mx,y =mexandy =c is equal to
2
c
Z(\/33+\/ﬁ)wh6rem1, my are the roots of the equation

2+ (vV3+2)z++/3-1=0.

° Watch Video Solution

332. Prove that the lines
V3z+y=0,3y+2=0, 3z +y=1and3y+z =1 form a

rhombus.

° Watch Video Solution



https://dl.doubtnut.com/l/_7oL1TdFKfwoA
https://dl.doubtnut.com/l/_sfST1kufcTeZ
https://dl.doubtnut.com/l/_6vLOLQVtaFw7

333. Find the equation of the line passing through the intersection of the
lines 2z +y=>5andx +3y+8 =0 and parallel to the line

3r+4y=1T.

° Watch Video Solution

334. Prove that the lies

3t +y—14 =0, z — 2y = Onad 3x — 8y + 4 = 0 are concurrent.

° Watch Video Solution

335. If the lines
a1z +biy+1=0, asx +by+1=0andazx +byy+1=0 are
concurrent, show that the points (ai, b;), (as, by)and (a3, bs) are

collinear.

° Watch Video Solution



https://dl.doubtnut.com/l/_k2RR2g1ZRyJM
https://dl.doubtnut.com/l/_1W3SB9maozMq
https://dl.doubtnut.com/l/_oxg4wh1MlDz4
https://dl.doubtnut.com/l/_ZL9BYEZx73E1

336. Show that the following lines are  concurrent:
Li=(a—-bz+(b—cy+(c—a)=0
Ly=(b—-cz+(c—a)y+(a—>b) =0

Ly=(c—a)z+(a—by+(b—c)=0

° Watch Video Solution

337. Prove that the following sets of three lines are concurrent:

152 — 18y +1 =0, 12z + 10y — 3 = 0 and 6z + 66y — 11 = 0.

° Watch Video Solution

338. Prove that the following sets of three lines are concurrent:

T T Y
a+ ’b+a andy = x

° Watch Video Solution



https://dl.doubtnut.com/l/_ZL9BYEZx73E1
https://dl.doubtnut.com/l/_GoRxvVxXlpuR
https://dl.doubtnut.com/l/_OwSmkKlglcnj

339. For what value of A are the three lines

2c —5y+3=0, 52 — 9y + A = 0and z — 2y + 1 = 0 concurrent?

° Watch Video Solution

340. Find the conditions that the straight lines

Yy =miT + ¢,y = Mo + cxand y = mzx + c3 may meet in a point.

° Watch Video Solution

341. Show that the straight lines
Li=(b+czr+ay+1=0, Ly=(ct+a)z+by+1=0nd L3 =(a+b

are concurrent.

° Watch Video Solution



https://dl.doubtnut.com/l/_GXceVwAWgBsJ
https://dl.doubtnut.com/l/_CcrQMqHGs9sH
https://dl.doubtnut.com/l/_lkCibT6R72D4

342, If the three lines
ar +a’y+1=0, bz +by+1=0andcx +cy+1=0 are

concurrent, show that at least two of three constants a, b, c are equal.

° Watch Video Solution

343. If a, b, c are in AP prove that the straight lines
ax +2y+1=0,bx+3y+1=0andcr +4y+1=20 are

concurrent.

° Watch Video Solution

344. Show that the perpendicular bisectors of the sides of a triangle are

concurrent.

° Watch Video Solution



https://dl.doubtnut.com/l/_V1qE4mEAwrFr
https://dl.doubtnut.com/l/_DzVySiut4nwN
https://dl.doubtnut.com/l/_O0jJo5wgGcpT

345. Find the equation of the line which is parallel to 3z — 2y +5 =0

and passes through the point (5, — 6)

° Watch Video Solution

346. Find the equation of the straight line that passes through the point

(3,4) and is perpendicular to the line 3z + 2y + 5 =0

° Watch Video Solution

347. Find equation of the line perpendicular to the linex — 7y +5 =0

and having x intercept 3.

° Watch Video Solution

348. A person standing at the junction (crossing) of two straight paths

represented by the equations 2z —3y+4 =0 and 3z +4y—-5=10


https://dl.doubtnut.com/l/_u15khGHCLdOP
https://dl.doubtnut.com/l/_brRkkDkMduyp
https://dl.doubtnut.com/l/_CmHQy0Aq6rZm
https://dl.doubtnut.com/l/_MwWVEgji5kue

wants to reach the path whose equation is 6x — 7y + 8 = 0 in the least

time. Find equation of the path that he should follow.

° Watch Video Solution

349. The equations of two sides of a ‘triangle are
3r — 2y + 6 = 0 and 4z + 5y — 20 and the orthocentre is (1,1). Find the

equation of the third side.

° Watch Video Solution

350. Find the circumcentre of the triangle whose sides are

3r —y+3=0,3z+4y+3=0and = + 3y + 11 = 0.

° Watch Video Solution

351. Find the equation of a line passing through the point (2,3) and

parallel to the line3x — 4y +5=0.



https://dl.doubtnut.com/l/_MwWVEgji5kue
https://dl.doubtnut.com/l/_tu6ZRUac95r9
https://dl.doubtnut.com/l/_pxBnuq0GsGms
https://dl.doubtnut.com/l/_K8R9VjpF3BBM

| ° Watch Video Solution

352. find the equation of a line passing through (3,-2)and perpendicular

tothelinez —3y+5=0

° Watch Video Solution

353. Find the equation of the perpendicular bisector of the line joining

the points (1,3) and (3,1).

° Watch Video Solution

354.Find the equation of the altitudes of triangle ABC whose vertices are

A(2,-2), B(1,1) and C(-1,0)

° Watch Video Solution



https://dl.doubtnut.com/l/_K8R9VjpF3BBM
https://dl.doubtnut.com/l/_CIjSidIAYJg2
https://dl.doubtnut.com/l/_KZwZ2hZqTNrh
https://dl.doubtnut.com/l/_RfABrHr8ele0

355. Find the equation of a line which is perpendicular to the line
V3 —y+5 =0 and which cuts of an intercept of 4 units with the

negative direction of y-axis.

° Watch Video Solution

356. Find the equation of the straight line through the point («, ) and

perpendiculasr to the line lx + my + n = 0.

° Watch Video Solution

357. Find the equation of the straight line perpendicular to 2z — 3y = 5

and cutting off an intercept 1 on the positives direction of the x-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_uRHbGCoKaFJ7
https://dl.doubtnut.com/l/_ElLceCZayW4S
https://dl.doubtnut.com/l/_pfKIgmqUHlUV

358. Find the equation of the straight line perpendicular to b — 2y = 8
and which passes through the mid point of the line segment joining (2,3)

and (4,5).

° Watch Video Solution

359. Find the equation of the straight line which has y-intercept equal to

4/3 and is perpendicular to 3z — 4y + 11 = 0.

° Watch Video Solution

360. Find the equation of the right bisector of the line segment joining

the points (a, b)and (ay, by)-

° Watch Video Solution



https://dl.doubtnut.com/l/_jsv41CpdnH89
https://dl.doubtnut.com/l/_oaqboAYFbUOv
https://dl.doubtnut.com/l/_0bBNDrUPV73P

361. Find the image of the point (2,1) with respect to the line mirror

z+y—5=0

° Watch Video Solution

362. If the image of the point (2, 1) with respect to a line mirror be

(5,2), find the equation of the mirror.

° Watch Video Solution

363. Find the equation to the straight line parallel to 3z — 4y +6 =0
and passing through the middle point of the joint of points (2,3), and

(4,1).

° Watch Video Solution



https://dl.doubtnut.com/l/_KdGbypk6SLU3
https://dl.doubtnut.com/l/_MHE4MScCdjhJ
https://dl.doubtnut.com/l/_UxPIEB59WsBo

364. Prove that the lines
2 —3y+1=0,z4+y=3,2xr —3y=2andx+y=4 form a

parallelogram.

° Watch Video Solution

365. Find the equation of a line drawn perpendicular to the line

Y

+ i 1 through the point where it meets the y axis.

z
4

° Watch Video Solution

366. The perpendicular from the origin to the line y = mz + ¢ meets it

at the point (-1,2). Find the values of m and c.

° Watch Video Solution



https://dl.doubtnut.com/l/_XJJMlDFBN8ad
https://dl.doubtnut.com/l/_nJANAY8ELTIT
https://dl.doubtnut.com/l/_C1fgMbFb4wef

367. Find the equation of the right bisector of the line segment joining

the points (3, 4) and ( — 1.2).

° Watch Video Solution

368. The line through (h,3)and (4,1) intersects the line k

Tx — 9y — 19 = 0 at right angle. Find the value of h.

° Watch Video Solution

369. Find the image of the point (3, 8)with respect to the line x + 3y = 7

assuming the line to be a plane mirror.

° Watch Video Solution

370. Find the coordinates of the foot o the perpendicular from the point

(-1,3)to theline3xz —4y — 16 =0

| e |


https://dl.doubtnut.com/l/_LyvGj3pym0Um
https://dl.doubtnut.com/l/_tVjdXAXhqwk6
https://dl.doubtnut.com/l/_s0shLqOzhhiP
https://dl.doubtnut.com/l/_2xunVB1nks03

I & Watch Video Solution

371. Find the projection of the point (1,0) on the line joining the points

(-1,2) and (5,4).

° Watch Video Solution

372.Find the equation of a line perpendicular to the line3z +y+ 5 =0

and at a distance of 3 units from the origin.

° Watch Video Solution

373.The line 2z + 3y = 12 meets the x-axis at A and y-axis at B. The line
through (5,5) perpendicular to AB meets the x-axis and the line AB at C
and E respectively. If O is the origin of coordinates, find the area of figure

OCEB.

° Watch Video Solution



https://dl.doubtnut.com/l/_2xunVB1nks03
https://dl.doubtnut.com/l/_fHcm8DMEmcAs
https://dl.doubtnut.com/l/_1Kl4Hc6cdUUj
https://dl.doubtnut.com/l/_UvFlWfuNBWay

374. Find the equation of the straight line which cuts off intercept on X-

axis which is twice that on Y-axis and is at a unit distance from the origin.

° Watch Video Solution

375. The equations of the perpendicular bisectors of the sides
ABandAC of triangle ABC are ¢ —y+5=0 and z+2y=0 ,
respectively. If the point A is (1, — 2) , then find the equation of the line

BC.

° Watch Video Solution

376. Find the angles between the pairs of straight lines:

T+/3y—5=0and 3z +y—T7=0

° Watch Video Solution



https://dl.doubtnut.com/l/_ELIjUayOX8Cq
https://dl.doubtnut.com/l/_9YECLshxjHJk
https://dl.doubtnut.com/l/_Q7XwyWwrh1DD

377. Find the angles between the pairs of straight lines:

Y= (2—\/§)x—|—5andy: (2+\/§)m—7.

° Watch Video Solution

378. Find the obtuse angle between the lines

xr—2y+3=0and3x+y—1=0.

° Watch Video Solution

379. A line passing through the points (a, 2a) and (—2, 3) is

perpendicular to the line 4z 4+ 3y + 5 = 0, find the value of a.

° Watch Video Solution

380. The hypotenuse of a right angled triangle has its ends at the points

(1, 3)and ( 4, 1).Find the equation of the legs (perpendicular


https://dl.doubtnut.com/l/_qdy4KPBOWdKZ
https://dl.doubtnut.com/l/_5dwAlfxZtuN8
https://dl.doubtnut.com/l/_6zl76M03LlOz
https://dl.doubtnut.com/l/_s6Ft8FFszGAy

sides) of the triangle.

° Watch Video Solution

381. Find the angles between each of the following pairs of straight line:

3r+y+12=0andz+2y—1=0

° Watch Video Solution

382.Find the angles between each of the following pairs of straight line:

3r+4y—7=0and4z —3y+5=0

° Watch Video Solution

383. Find the angles between each of the following pairs of straight line:

3r —y+5=0andxz —3y+1=0

° Watch Video Solution



https://dl.doubtnut.com/l/_s6Ft8FFszGAy
https://dl.doubtnut.com/l/_Y6RIkuaTsnwQ
https://dl.doubtnut.com/l/_ba1uYwq3DlED
https://dl.doubtnut.com/l/_gWvNs7jZl54L
https://dl.doubtnut.com/l/_daFWbnTbn5JT

384.Find the angles between each of the following pairs of straight line:

x —4y = 3and 6z —y = 11.

° Watch Video Solution

385. Find the acute angle between the lines

2t —y+3=0andzx +y+2=0.

° Watch Video Solution

386. Prove that the points (2,-1), (0,2), (2,3) and (4,0) are the coordinates
other vertices of a parallelogram and find the angle between its

diagonals.

° Watch Video Solution



https://dl.doubtnut.com/l/_daFWbnTbn5JT
https://dl.doubtnut.com/l/_uwFQJKxOdTzj
https://dl.doubtnut.com/l/_ExxtQDiwFfyW

387.Find the angle between the line joining the points (2,0), (0,3) and the

linex +y=1.

° Watch Video Solution

388. If 6 is the angle which the straight line joining the points

(z1,y1)and (z3,ys) subtends at the origin, prove that

T2y1 — ZT1Y2 T1T2 + Y1y2
———— andcosf =
1Ty + Y192 \/az12:c22 + y22x12 4 y12222 4 y12y22

tanf =

° Watch Video Solution

389. Find the angle between the linesx = aand by + ¢ = 0.

° Watch Video Solution

390. Find the tangent of the angle between the lines whose intercepts on

the axes are respectively a,~b and b,-a



https://dl.doubtnut.com/l/_75AA5HMzHZXz
https://dl.doubtnut.com/l/_fbuNPrTz5Qde
https://dl.doubtnut.com/l/_Y4Vpv3I9sYFg
https://dl.doubtnut.com/l/_9xGMjvqn1yHG

| ° Watch Video Solution

391. Show that the line a®z + ay + 1 = 0 is perpendicular to the line

x — ay = 1for all non zero real values of a-

° Watch Video Solution

392. Show that the tangent of an angle between the lines % + % =1
x y ..  2ab
and E — E =1 'LSm

° Watch Video Solution

393. Find the values of the parameter a so that the point (a, 2) is an
interior point of the triangle formed by the lines x+y-4=0, 3x-7y-8=0and 4x-

y31=0.

° Watch Video Solution



https://dl.doubtnut.com/l/_9xGMjvqn1yHG
https://dl.doubtnut.com/l/_1ed4Y92FekUQ
https://dl.doubtnut.com/l/_BqN1cIbwXJET
https://dl.doubtnut.com/l/_m0wFJPwtIK1Z
https://dl.doubtnut.com/l/_KZ4R1R1pcJAY

394. determine whether the point (-3, 2) lies inside or outside the triangle

whose sides are given by the equations x+y-4=0,3x-7y+8=0,4x-y-31=0

° Watch Video Solution

395. Find the distance between the line 12z — 5y + 9 = 0 and the point

(2,0).

° Watch Video Solution

396.If p and g be the perpendicular form the origin upon the straight

lines xsech + ycosecd = a and xcosf — ysinh = a cos 26 Prove that

AP+ =a

° Watch Video Solution

397. What are the points on x-axis whose perpendicular distance from the

linedz + 3y = 12is47?


https://dl.doubtnut.com/l/_KZ4R1R1pcJAY
https://dl.doubtnut.com/l/_LEW3H6fMUCiC
https://dl.doubtnut.com/l/_Py8I9hH01H5u
https://dl.doubtnut.com/l/_c14hCTVg6JGW

° Watch Video Solution

398. Find the points on z = 0 line whose perpendicular distance from the

linedr — 3y — 12 =01is 3.

° Watch Video Solution

399. The points on = + y = 4 that lie at a unit distance from the line

4z + 3y — 10 = are

° Watch Video Solution

400. Find the distance of the point (4,5 from the straight line

3r —5y+7=0

° Watch Video Solution



https://dl.doubtnut.com/l/_c14hCTVg6JGW
https://dl.doubtnut.com/l/_LvHXk3zy7pCn
https://dl.doubtnut.com/l/_mMzoh80wzY47
https://dl.doubtnut.com/l/_7Hs1x3ruoqwk

401. Find the perpendicular distance of the line joining the points

(cos 6, sinf) and (cos ®, s/hn) nad (cos ¢ and sin ) from the origin.

o Watch Video Solution

402.Find the length of the perpendicular from the origin to the straight
line  joining the two  points whose coordinates are

(a cos @, asina)and (a cos B, asinf).

o Watch Video Solution

403. Show that the perpendiculars let fall from any point on the straight
line 2z + 11y =5 upon the two strasightr lines

24z + Ty = 20 and 4z — 3y = 2 are equal to each other.

o Watch Video Solution



https://dl.doubtnut.com/l/_BeIFECaNZd3U
https://dl.doubtnut.com/l/_OdnYZxaeV5qd
https://dl.doubtnut.com/l/_o5Ty8HZijb51

404. Find the length of the perpendicular draw from the point (4, 7)
upon the straight line passing through the origin and the point of

intersection of the lines 22— 3y + 14 = 0and 5 + 4y =7

° Watch Video Solution

405. What are the points on the x-axis whose perpendicular distance from

theline = + ¥ — 1isa
a b

° Watch Video Solution

406. Show that the product of perpendiculars on the line

%cos@ + %sinﬂ = 1 from the points ( + v/a? — b, 0)i3b2.

° Watch Video Solution



https://dl.doubtnut.com/l/_5MOVWkGsKvUf
https://dl.doubtnut.com/l/_lalKP2zLUMBk
https://dl.doubtnut.com/l/_BMxc5kP1YMbE

407.Find the perpendicular distance from the origin of the perpendicular

from the point (1,2) upon the straight line z — /3y + 4 = 0.

° Watch Video Solution

408. Find the distance of the point (1,2) from the straight line with slope 5
and passing  through  the point of intersection of

r+2y=5andzr — 3y =1"T.

° Watch Video Solution

409. What are the points on the yaxis whose distance from the line

Y

= = 1lis 4 units.
+4 IS 4 units

r
3

° Watch Video Solution



https://dl.doubtnut.com/l/_HBNMBXT4JrH3
https://dl.doubtnut.com/l/_HJri0g6rx6xV
https://dl.doubtnut.com/l/_dMlVi2C9biDj

410. In the triangle ABC with vertices A (2, 3), B (4, -1) and C (1, 2), find the

equation and length of altitude from the vertex A.

° Watch Video Solution

411. Show that the path of a moving point such that its distances from

two lines 3z — 2y = 5and 3x + 2y = bHare equal is a straight line.

° Watch Video Solution

412. If sum of the perpendicular distances of a variable point P(z, y)from
the lines  +y — 5 = 0and 3x — 2y + 7 = 0 is always 10. Show that P

must move on a line.

° Watch Video Solution



https://dl.doubtnut.com/l/_M2dcgfOTbimb
https://dl.doubtnut.com/l/_0AE1oeN0q4my
https://dl.doubtnut.com/l/_43a0su0Igu4P

413. Find the distance between the parallel lines

3r —4dy+9=0and 6 — 8y — 15 = 0.

° Watch Video Solution

414. Find the distance between the parallel lines

9r + 6y — 7=0and 3z + 2y + 6 = 0.

° Watch Video Solution

415. Determine the distance between the pair of parallel lines :

dr —3y—9=0and 4o —3y—24 =0

° Watch Video Solution

416. Determine the distance between the pair of parallel lines:

8z + 15y — 34 = Oand 8z + 15y + 31 = 0

| e |


https://dl.doubtnut.com/l/_wVoKmWasJAGm
https://dl.doubtnut.com/l/_MPBTqazcybJe
https://dl.doubtnut.com/l/_CiW4GKvzUqxx
https://dl.doubtnut.com/l/_cAFCHWFzxo5W

| & Watch Video Solution I

417. Determine the distance between the following pair of parallel lines:

y=mz+candy=mx +d

° Watch Video Solution

418. Determine the distance between the following pair of parallel lines:

4z + 3y — 11 = 0 and 8z + 6y = 15.

° Watch Video Solution

419. If two sides of a square are along b5x — 12y + 26 =0 and

5r — 12y — 65 = 0 then find its area.

° Watch Video Solution



https://dl.doubtnut.com/l/_cAFCHWFzxo5W
https://dl.doubtnut.com/l/_OK7O9Bn1nlJ4
https://dl.doubtnut.com/l/_tcL83PQKLwBl
https://dl.doubtnut.com/l/_NIbLEt8e3vnJ

420. Prove that the lines 2z +3y =19 and 22 +3y+7=0 are

equidistant from the line 2z + 3y = 6.

° Watch Video Solution

421. Find the equation of the line midway between the parallel lines

9z + 6y — 7 = 0 and 3x+2y+6=0'

° Watch Video Solution

422, Show that the area of the parallelogram formed by the lines

2 —3y+a=0,3x —2y—a=0, 2z —3y+ 3a = 0and 3x — 2y — 2a -

° Watch Video Solution

423. Prove that the area of the parallelogram contained by the lines

dy—3z —a=0,3y—4x +a =0,4y — 3x — 3a =0, and


https://dl.doubtnut.com/l/_SliE1qWKHiD4
https://dl.doubtnut.com/l/_s6rulPH2SZ65
https://dl.doubtnut.com/l/_ANi2sgHYU6eU
https://dl.doubtnut.com/l/_i2VBmQZcpb4t

(2 o
3y —4x + 2a = 0Ois = a’

° Watch Video Solution

424. The equation of two straight lines through (7,9) and making an

angle of 60° with the linex — /3y — 2,/3 = 0'is

° Watch Video Solution

425. Find the equation of the lines through the point (3, 2) which make an

angle of 45° with the line x — 2y = 3.

° Watch Video Solution

426. Show that the equation of the straight line through the origin angle

. . .Y m % tany
@ with the liney = mz + bis=— = ——— —
z 1+ mtany

o Watch Video Solution



https://dl.doubtnut.com/l/_i2VBmQZcpb4t
https://dl.doubtnut.com/l/_wfo2lA62QUNe
https://dl.doubtnut.com/l/_X9De4w6JnPgS
https://dl.doubtnut.com/l/_UdbGVzTtW70j

427.One diagonal of a square is along the line 8 — 15y = 0 and one of
its vertex is (1, 2). Then the equations of the sides of the square passing
through this vertex are

(A) 23z + Ty =9, Tz + 23y = 53

B)23z —Ty+9=0,7c +23y +53 =0

(A23x —Ty—9=0,7x +23y —53 =0

(D) none of these

° Watch Video Solution

428. Find the equation of the straight lines passing through the origins

and making an angle of 45° with the straight line V3T +y =11

° Watch Video Solution

429. Find the equations of the straight lines passing through (2,-10) and

making and angle of 45° with the line 6z + 5y — 8 = 0

| o Wik L\ dana C Al ikl mn



https://dl.doubtnut.com/l/_S3ZKcPkvrYeW
https://dl.doubtnut.com/l/_JwLdX5rBH42R
https://dl.doubtnut.com/l/_bIXGtAUfBbkx
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430. Find the equations of the lines which pass through the origin and

are inclined at an angle tan ! m to the liney = mz + ¢

° Watch Video Solution

431. Find the equations t the straight lines passing through the point

(2,3) and inclined at an angle of 45° to the line 3z + y—95=0.

° Watch Video Solution

432.The equation of one side of an equilateral triangle is x — y = 0 and
one vertex is (2 + /3, 5) . Prove that a second side is

y + (2 — v/3)& = 6 and find the equation of the third side.

° Watch Video Solution



https://dl.doubtnut.com/l/_bIXGtAUfBbkx
https://dl.doubtnut.com/l/_hEwwghT8oGO7
https://dl.doubtnut.com/l/_r7XLppU8hbBM
https://dl.doubtnut.com/l/_jyTJjFS249ee

433. Find the equations of two straight lines passing though (1,2) and
making an angle of 60° with the line z + y = 0 Also, find the area of the

triangle formed by the three lines.

° Watch Video Solution

434, Show that the point (3,-5) lies between the parallel lines
2 +3y— 7=0and 2z + 3y + 12 = 0 and find the equation of lines

through (3,-5) cutting the above lines at an angle of 45° .

° Watch Video Solution

435. If two opposite vertices of a square are (1,2) and (5,8) find the

coordinates of its other two vertices and the equations of its sides.

° Watch Video Solution



https://dl.doubtnut.com/l/_G8SUwoD9SzS2
https://dl.doubtnut.com/l/_VnBzi7AgJDEL
https://dl.doubtnut.com/l/_j8SgkEt6tmlE

436. Obtain the equations of the line passing through the intersection of
lines 4 — 3y — 1 = 0 and 2z — 5y + 3 = 0 and equally inclined to the

axes.

° Watch Video Solution

437. Let a, b, c be parameters. Then the equation az + by 4+ ¢ = 0 will
represent a family of straight lines passikng through a fixed point iff

there exists a linear relation between a, b, and c

° Watch Video Solution

438. Find the equation of a straight line through the point of intersection
of the lines 4z —3y=0and2x —5y+3 =0 and parallel to

4z + 5y + 6 = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_DZfuTKxpLSqC
https://dl.doubtnut.com/l/_sYOaIFfac43P
https://dl.doubtnut.com/l/_CIqnC06avN8j
https://dl.doubtnut.com/l/_sxkaAezjr836

439. Find the equation of a straight line passing through the point of
intersection of ¢ + 2y + 3 = 0 and 3z + 4y + 7 = 0 and perpendicular

to the straight linexz —y + 9 = 0.

° Watch Video Solution

440. Find the equation of the line passing through the point of
intersection of 2z — 7y + 11 = O and z + 3y — 8 = 0 and is parallel to i.

x-axis ii. y-axis.

° Watch Video Solution

441. Find the equation of the straight line drawn through the point of
intersection of the lines z 4+ y = 4 and 2z — 3y = 1 and perpendicular

to the line cutting off intercepts 5,6 on the axes.

° Watch Video Solution



https://dl.doubtnut.com/l/_sxkaAezjr836
https://dl.doubtnut.com/l/_gekaDsrawF1p
https://dl.doubtnut.com/l/_2PYbj8xtCTIx

442. Prove that the family of lines represented by
z(14+X) +y(2—A) +5=0, being arbitrary, pass through a fixed

point. Also find the fixed point.

° Watch Video Solution

443. Find the equation of the straight line passing through the point of
intersection of intersection of 2z +y—1=0and  + 3y — 2 = 0 and

making with the coordinate axes a triangle of area 3/8 sq.units.

° Watch Video Solution

444, Find the equation of the line through the point of intersection of,
the linesz — 3y + 1 = 0 and 2z + 5y — 9 — 0 and whose distance from

the origin is /5

° Watch Video Solution



https://dl.doubtnut.com/l/_kPMiNtvTjl5z
https://dl.doubtnut.com/l/_6o3tZTvOMyNL
https://dl.doubtnut.com/l/_BGQgIMVwOmO1
https://dl.doubtnut.com/l/_Vdnc3GP6bocL

445. Write an equation representing a pair of lines through the point

(a, b) and parallel to the coordinate axes.

° Watch Video Solution

446. Write the coordinates of the orthocentre of the triangle formed by

the lines > — y?> = 0 and = + 6y = 18.

° Watch Video Solution

447. If the centroid of a triangle formed by the points (0,0),
(cos 0, sin@)and (sinf, — cos ) lies on the line y = 2z then write the

value of tané.

° Watch Video Solution

448. Write the value of § € (0, %) for which area of the triangle formed

by points O(0,0), A(acosf, bsinf)and B(acosf, — bsinf) is


https://dl.doubtnut.com/l/_Vdnc3GP6bocL
https://dl.doubtnut.com/l/_U82jdrZQDpP4
https://dl.doubtnut.com/l/_QN5kBiXLJvgY
https://dl.doubtnut.com/l/_rPGgHzk7NevE

maximum.

° Watch Video Solution

449.The distance between the lines 4 + 3y = 11 and 8z 4+ 6y = 15is

° Watch Video Solution

450. Write the coordinates of the orthocentre of the triangle formed by

thelineszy =0andz + y = 1.

° Watch Video Solution

451. If the lines x +ay+a=0,bx +y+b=0andcx +cy+1=0

are concurrent, then write the value of 2abc — ab — bc — ca-

° Watch Video Solution



https://dl.doubtnut.com/l/_rPGgHzk7NevE
https://dl.doubtnut.com/l/_BWZz7kuOmxWJ
https://dl.doubtnut.com/l/_k7pNvJb2457c
https://dl.doubtnut.com/l/_XNHg1Y1rAxPS

452. Write the area of the triangle formed by the coordinate axes and the

line (secl — tanB)x + (secl + tanf)y = 2.

° Watch Video Solution

453. Write the coordinates of the image of the point (3, 8) in the lines

x+3y—7=0.

° Watch Video Solution

454, Write the integral values of m for which the x-coordinates of the
point of intersectioin of the lines y = mx +1and 3z + 4y =9 is an

integer.

° Watch Video Solution



https://dl.doubtnut.com/l/_WZwx453fuhqU
https://dl.doubtnut.com/l/_PwDDrkeCBabc
https://dl.doubtnut.com/l/_1x8u4pxPx4ld

455. The equation (b—c)Jz+(c—a)y+(a—b) =0 and

(b3 — c3):1: + (03 — a3)y + a® — b® = 0 will represent the same line if

° Watch Video Solution

456. If a, b, c are in G.P. write the area of the triangle formed by the line

ax + by + ¢ = 0 with the coordinates axes.

° Watch Video Solution

457. Write the locus of a point the sum of whose distances from the

coordinates axis is unity.

° Watch Video Solution

458.If a, b, c are in AP, then the line az 4 by + ¢ = 0 passes through a

fixed point. write the coordinates of that point.

| e |


https://dl.doubtnut.com/l/_o12rkmJQQirm
https://dl.doubtnut.com/l/_H0a1GkDkaasD
https://dl.doubtnut.com/l/_9RWHIEjPpghA
https://dl.doubtnut.com/l/_Fjsfi0addEuJ

I & Watch Video Solution

459. Find the locus of the mid points of the portion of the lines

x sinf + ycos @ = p intercepted between the axes.

° Watch Video Solution

460. L is a variable line such that the algebraic sum of the distances of
the points (1,1) (2,0) and (0,2) from the line is equal to zero. The line L will
always pass through a. (1,1) b. (2,1) c. (1,2) d. none of

these

° Watch Video Solution

461. The acute angle between the medians drawn from the acute angles

of a right angle isosceles triangle is

° Watch Video Solution



https://dl.doubtnut.com/l/_Fjsfi0addEuJ
https://dl.doubtnut.com/l/_nNrWn8yjy5vi
https://dl.doubtnut.com/l/_qegL7da7JYuA
https://dl.doubtnut.com/l/_JYlxDESRreGk

462. The distance between the orthocentre and circumcentre of the

3+4/3 3+\/§>,
is
2 )

triangle with vertices (1, 2), (2, 1) and < 5

a.0b.1/2c.3 + ,/3d.none of these

° Watch Video Solution

463. The equation of the straight line which passes through the point
( — 4, 3) such that the portion of the line between the axes is divided
internally be the point in the ratio 5:3 is 92 — 20y + 96 =0

9z + 20y = 24 20z — 9y + 53 = 0 none of these

° Watch Video Solution

464. The point which divides the join of (1,2) and(3,4) externally in the
ratio 1:1 a. lies in the Ill quadrant b. lies in the Il quadrant c. lies in the |

quadrant d.cannot be found

° Watch Video Solution



https://dl.doubtnut.com/l/_NXZRyPv9aVpV
https://dl.doubtnut.com/l/_ys4gotEBM7HG
https://dl.doubtnut.com/l/_Sg80NCrncQCd

465. A line passes through the point (2, 2) and is perpendicular to the

line 3z + y = 3, then its y-intercept is

° Watch Video Solution

466. If the lines ar+12y+1=0,brx+13y+1=0 and
cx + 14y + 1 = 0 are concurrent, then a, b, c are in a. HP. b. G.P. c. AP. d.

none of these

° Watch Video Solution

467. The number of real values of )\ for which the lines
xr—2y+3=0, \e +3y+ 1 =0and4xr — Ay + 2 = 0 are concurrent

isa.0b.1c. 2d.Infinite

° Watch Video Solution



https://dl.doubtnut.com/l/_Sg80NCrncQCd
https://dl.doubtnut.com/l/_9HVYqwRmHfLh
https://dl.doubtnut.com/l/_7veb2kDaPhiW
https://dl.doubtnut.com/l/_1IJnZDCCletT

468. The equations of the sides
AB, BC and CA of triangleABC arey —x =2, t+2y=1land 3z +y
respectively. The equation of the altitude through Bisx — 3y + 1 = 0b.

x—3y+4=0c3z —y+ 2= 0d.none of these

° Watch Video Solution

469. If pyand p, are the lengths of te perpendiculars from the origin upon
the lines x sec + hycosecd = a and x cos @ — ysinf = a cos 20
respectively, then a.4pl2 +p22 =a®> b. pl2—4p22=a® <

pl12 + p22 = a? d. none of these

° Watch Video Solution

470. Area of the triangle formed by the points
((a+3)(a+4), a+3), ((a+2)(a+3),(a+2)and (a+1), (a +2),

is 25a2 b. 52 c. 24a? d. none of these

| o WMl \ A C Al iklmn l



https://dl.doubtnut.com/l/_hgVvsUFSYA6c
https://dl.doubtnut.com/l/_ydrjsh6M2cQK
https://dl.doubtnut.com/l/_ubnwkTZ9QVrR
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471.If a + b+ ¢ = 0, then the family of lines 3ax + by + 2¢ = 0 pass

through fixed point a. (2,2/3) b. (2/3,2) c. (-2,2/3) d. none of these

° Watch Video Solution

472. The line segment joining the points (-3,-4), and (1,-2) is divided by y-

axis in the ratio a. 1:3 b.2:3 c. 3:1 d.3:2

° Watch Video Solution

473.The area of a triangle with vertices at (-4,-1), (1,2) and (4,-3) is a. 17 b.

16 c¢.15 d.none of these

° Watch Video Solution



https://dl.doubtnut.com/l/_ubnwkTZ9QVrR
https://dl.doubtnut.com/l/_VTsytgFHDumg
https://dl.doubtnut.com/l/_mKQ4tuBLaXFA
https://dl.doubtnut.com/l/_uY5emmX6kAo2

474. The line segment joining the points (1,2) and (-2,1) is divided by the

line 3z 4+ 4y = 7in the ratio a.3:4 b.4:3 ¢c.9:4 d. 4:9

° Watch Video Solution

475. If the point (5,2) bisects the intercept of a line between the axes,
then its equation is bx + 2y = 20 b. 22 + 5y = 20 c. 5z — 2y = 20 d.

2z — 5y = 20

° Watch Video Solution

476. A (6,3), B( —3,5), C(4, — 2) and D(x, 3x) are four points. If
A’DBC - A’ABC = 1:2, then z is equal to a.11/8 b. 8/11 c. 3 d. none

of these

° Watch Video Solution



https://dl.doubtnut.com/l/_W1D0t5Iiy9V6
https://dl.doubtnut.com/l/_FBjs8RGXZ5Ah
https://dl.doubtnut.com/l/_SQRQ2pFfZkJs

477. If p be the length of the perpendicular from the origin on the line

1 1
z/a+y/b =1, then p=d’+b® b pP=—+—= c
a2 b2
L2 —d fth
p2_a2+b2 .none of these

° Watch Video Solution

478. The equation of the line passing through (1,5) and perpendicular to
the line3z —5y+7=0isa. 5z +3y—20=0b. 3z - 5y+7=0c

32 —5y+6=0d5z+3y+7=0

° Watch Video Solution

479. The figure formed by the lines az &=y &= ¢ = 0 is a. a rectangle b. a

square c. a rhombus d. none of these

° Watch Video Solution



https://dl.doubtnut.com/l/_dGzQiVryxbPp
https://dl.doubtnut.com/l/_li3N2sZtn8Xp
https://dl.doubtnut.com/l/_l6RwpYm2Wpir

480. Two vertices of triangle are (2,-1) and (3,2) and third vertex lies on the
line x +y = 5. If the area of the triangle is 4 square units, then the

third vertex is a. (0,50) or (4,1) b. (5,0) of (1,4) c. (5,0) or (4,1) d. (0,5) or (1,4)

° Watch Video Solution

481. Find the gradient of a straight line which is passes through the point

(-3.6) and the mid point of (4,-5) and (-2, 9)

° Watch Video Solution

482. The angle between the lines

5z + 3y — 7 = 0and 15z + 9y + 14 = 0is a.0° b. 60° c. 45° d. 30°

° Watch Video Solution



https://dl.doubtnut.com/l/_qLaBUzNRUbLi
https://dl.doubtnut.com/l/_Jq9OZmRnc5Nl
https://dl.doubtnut.com/l/_D6jw6DQG2LPp

483. Distance between the lines
35 1 35
b. C. — d
V34 3v/34 334

S5t +3y—7=0and 15z + 9y + 14 =0 is

35/2/34

o Watch Video Solution

484, The value of A for which the lines
3z + 4y = 5,52 + 4y = 4and Ax + 4y = 6 meet at a pointisa.2b.3 c.

1d.4

o Watch Video Solution

485. Three vertices of a parallelogram, taken in order, are (-1, -6), (2,-5) and

(7,2). Write the coordinates of its fourth vertex.

o Watch Video Solution



https://dl.doubtnut.com/l/_n9bhjnQ2vuxa
https://dl.doubtnut.com/l/_Gh6UQ62nbdTM
https://dl.doubtnut.com/l/_fsnbLv2Ljphr

486. The centroid of triangle is (2,7) and two of its vertices are (4,8) and
(-2,6). The third vertex is

a.(0,0) b. (4, 7) c. (7, 4) d. (7, 7)

° Watch Video Solution

487. If the lines z+q=0,y—2=0and 3z +2y+5=0 are

concurrent then the value of gwillbe 1 b.2¢c.3d.5

° Watch Video Solution

488. The medians ADand BE of a triangle with vertices
b
A(0,b), B(0,0) and C(a, 0) are perpendicular to each other, if a = 5

b.b:%c.abzld.a: + /b

° Watch Video Solution



https://dl.doubtnut.com/l/_qWDizS1jUoGB
https://dl.doubtnut.com/l/_XltAukiAUjNb
https://dl.doubtnut.com/l/_UqaQzizAiiGw

3
489. The equation of the line with gradient — 3 which is concurrent with

thelinesdx +3y —7=0and8 +5y—1 =20

° Watch Video Solution

490. A point equidistant from the line
dr +3y+ 10 =0, 5z — 12y + 26 = 0 and 7z + 24y — 50 = O is a. (1,-1)

b. (17)c. (0,0)d. (0,1)°

° Watch Video Solution

491. Find the ratio in which the line 3= + 4y + 2 = 0 divides the distance

between the lines 3z 4 4y + 5 = Oand3x + 4y — 5 = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_bHKShteImnaf
https://dl.doubtnut.com/l/_pGVVGoNPhugW
https://dl.doubtnut.com/l/_7EQeXRIfD1Fq

492.The coordinates of the foot of the perpendicular from the point (2,3)
onthelinez +y — 11 = O are

(@)( — 6,5)b.(5,6) c.( —5,6)d.(6,5)

° Watch Video Solution

493. Find the image of the point (4, — 13) in the line 5z + y + 6 = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_wcJgI7EZcHgz
https://dl.doubtnut.com/l/_EGtM7D8uCwZa

